Quality Products for the Transportation Industry

PARTS PRICE BOOK

visit our web site at: www.whitingdoor.com

Whiting Premium Roll-Up Doors
Whiting General Purpose Roll-up Doors
Other General Purpose Roll-up Doors
To ensure you are ordering the correct parts

for your door, please refer to the serial number
located on the tag inside your door.

Corporate Offices:
113 Cedar Street
Akron, New York 14001
(716) 542-5427

Fax: (716) 542-5947

West Coast Offices:
301 S Milliken Avenue
Ontario, California 91761
(909) 877-0120

Fax: (909) 877-9180

For quick and easy
identification, visit the

Search Parts page
at whitingdoor.com

Minimum order $35.00 net.

Prices are subject to change without notice.

JULY, 2022




Parts Price Book - July 1, 2022

Whiting Roll-Up Door Parts 2
Hardware 2-11
Track Components 12-13
Balancer Components 14-16
Seals 17-18
Roll-Up Door Panels* 19
Premium Wood Core 19-20
Premium Aluminum Clad 21
Premium Stainless Steel Clad 21
General Purpose Wood Core 22
General Purpose Aluminum Clad 23
1/2" Premium Plate 24
1/4" Premium Plate 25
Laminated Premium 26
CargoGuard 26
ColdSaver 27-28
TempGuard 29
Hinged Truss Il 30
Extruded Aluminum 31
Fasteners 32-35
Whiting Quality Replacement Parts 36-37

*additional charges apply on all non-standard panels, or panels greater than 98-1/4" in length. Priced on request.



Price Book 7/1/2022

[ = s = = = = '« & 3
Part Description List Price
Number
HARDWARE
CABLE —125"—5/16" EYE, STAINLESS STEEL
1-1 (Special application) S 17.72
CABLE — 156" —5/16" EYE, STAINLESS STEEL
1-2 (Special application) S 20.11
CABLE —130"—5/16" EYE, STAINLESS STEEL
1-4 (Doors 96” to 119”) S 18.71
CABLE —97"—5/16" EYE, STAINLESS STEEL
1-7 (Extruded aluminum doors) S 15.38
1-8 CABLE — 110" —5/16" EYE, STAINLESS STEEL S 15.85
CABLE —115"—5/16" EYE, STAINLESS STEEL
1-11 (Doors up to 96") S 15.78
6 SPACER WASHER — ROLLER SHAFT — 7/16" S 0.16
6-1 SPACER WASHER — ROLLER SHAFT — 7/16", STAINLESS STEEL S 0.21
15 CENTER HINGE S 2.79
15-1 CENTER HINGE — STAINLESS STEEL S 9.79
18-3 BOTTOM U-CHANNEL — STEEL (Specify length, type of lock and balancer) S 27.08
30-1 CABLE ANCHOR S 3.16
44 POLAR VENT S 27.45
48 HARDWARE BOX WITH 6944 BRACKET ASSEMBLY (Specify number of panels) S 76.20
49 HARDWARE BOX WITH 1336 BRACKET ASSEMBLY (Specify number of panels) S 133.13
57 CHAIN LOCK, NO CHAIN S 17.69
59 CHAIN LOCK, NO CHAIN S 16.14
70 RECESSED CAM LOCK (For doors without bottom seal) S 106.61
70-5 U-BOLT,11/2" S 3.16
70-7 ROD GUIDE — STAINLESS STEEL S 1.33
70-8 ROD — STAINLESS STEEL S 1.95
70-9 SPRING — STAINLESS STEEL S 6.81
70-13 U-BOLT, 1 1/4" (STANDARD) S 2.97
70-19 U-BOLT, 1 3/4" S 3.31
70-32 U-BOLT, 1 1/4" — STAINLESS STEEL S 8.40
70-200 RECESSED CAM LOCK WITH BEST CYLINDER (For doors without bottom seal) S 257.84
70-200-300 RECESSED CAM LOCK WITH BEST CYLINDER (For doors with bottom seal) S 260.87
70-300 RECESSED CAM LOCK (For doors with bottom seal) S 106.61
75 SURFACE MOUNTED CAM LOCK (For dry freight doors) S 156.87
75-1 CAM S 31.46
75-7 ROD GUIDE — STAINLESS STEEL S 1.42
75-8 ROD — STAINLESS STEEL S 1.95
75-9 COMPRESSION SPRING — STAINLESS STEEL S 7.27
75-10 SURFACE MOUNTED CAM LOCK (For insulated doors) S 153.99
77 OUTSIDE CAM LOCK, STANDARD, NO HANDLE KEEPER S 96.96
77BLK OUTSIDE CAM LOCK, STANDARD, TOP COATED BLACK, NO HANDLE KEEPER S 103.92
77-1 OUTSIDE OFFSET CAM LOCK, NO HANDLE KEEPER S 96.96
77-1BLK OUTSIDE OFFSET CAM LOCK,TOP COATED BLACK, NO HANDLE KEEPER S 103.92
77-12BLK OUTSIDE CAM LOCK WITH LOCK SHIELD- TOP COATED BLACK S 238.62
77-2 OUTSIDE CAM LOCK, NO KEEPER — STAINLESS STEEL S 426.41
77WHT OUTSIDE CAM LOCK , POWDER COATED WHITE, LESS KEEPER S 119.81
85 REMOVABLE BOTTOM ROLLER BRACKET ASSEMBLY S 3.95
86 HANDLE FOR #70 LOCK SERIES S 27.52

2 of 37



Price Book 7/1/2022

[ = s = = I = = ' 8 &
Part Description List Price
Number
87 HANDLE FOR #75 LOCK SERIES S 27.52
112-1 CABLE ASSEMBLY — 7/16" EYE — 105", STAINLESS STEEL (Yellow) S 15.98
112-2 CABLE ASSEMBLY — 7/16" EYE — 115", STAINLESS STEEL (Green) S 16.93
112-3 CABLE ASSEMBLY — 7/16" EYE — 125", STAINLESS STEEL (Red) S 17.72
112-4 CABLE ASSEMBLY — 7/16" EYE — 135", STAINLESS STEEL (Blue) S 18.84
112-6 CABLE ASSEMBLY — 7/16" EYE — 95", STAINLESS STEEL (Brown) S 14.98
125 SLAM LOCK WITH KEYED CYLINDER AND #214 GUIDE PIN S 123.41
132-0 AIR RIVET SET S 50.88
132-1 HAND RIVET SET S 61.40
213 GUIDE PIN, HARDENED (For #1415 lock) S 8.47
216 LATCH PLATE S 4.51
216-2 LATCH PLATE WITH FLAT CAM AREA S 451
506-1 WINDOW MOULDING - FOR 3/4" DOOR (Specify length) S 23.05
1000 LOCK ASSEMBLY, PUSH BUTTON TYPE WITH KEYED CYLINDER S 43.91
1000-1 LOCK ASSEMBLY, PUSH BUTTON TYPE LESS KEYED CYLINDER S 31.79
1003 LOCK CATCH S 1.69
1021 BOTTOM ROLLER SHAFT COVER S 1.25
1086-5 SINGLE PULL DOWN STRAP, 26" LONG S 9.83
1086-6 SINGLE PULL DOWN STRAP, 28" LONG S 11.10
1092 FORKLIFT PLATE, 18" S 27.68
1092-1 FORKLIFT PLATE, 14" S 21.52
1092STN FORKLIFT PLATE, 18", STAINLESS S 139.17
1111 CHEST HANDLE — 90° MOVEMENT S 5.90
1111-1 CHEST HANDLE — 180° MOVEMENT S 5.90
1112 OUTSIDE LATCH HANDLE S 19.16
1157 1" ROLLER ASSEMBLY — DRIVE IN TYPE S 1.05
1157-1 7/8" ROLLER ASSEMBLY — DRIVE IN S 1.00
1184 POSITIVE STOP ASSEMBLY S 22.12
1184HD POSITIVE STOP ASSEMBLY KIT- FOR 3/4" DRY FREIGHT DOORS S 231.32
1184HD-1 POSITIVE STOP ASSEMBLY KIT- FOR COLDSAVER DOORS S 248.70
1184HD-2 POSITIVE STOP ASSEMBLY KIT- FOR 1/2" PLATE DOORS S 228.16
1184HD-3 POSITIVE STOP ASSEMBLY KIT- FOR HINGED TRUSS DOORS S 250.00
1184HD-4 POSITIVE STOP ASSEMBLY KIT- FOR TEMPGUARD DOORS S 226.23
1184HD-6 POSITIVE STOP ASSEMBLY KIT- FOR 1/4" PLATE DOORS S 228.16
1207 ROLLER HINGE S 3.90
1207-1 ROLLER HINGE — STAINLESS STEEL S 13.81
1208 ROLLER HINGE COVER S 1.25
1208-1 ROLLER HINGE COVER — STAINLESS STEEL S 4.43
1209 ROLLER HINGE COMPLETE S 5.75
1209ASM ROLLER HINGE COMPLETE — ASSEMBLED S 5.87
1209-1ASM ROLLER HINGE COMPLETE — ASSEMBLED — STAINLESS STEEL S 21.26
1209-1 ROLLER HINGE COMPLETE — STAINLESS STEEL S 20.68
1235 INSIDE RELEASE HANDLE — FOR DRY FREIGHT DOORS (#70 Lock) S 21.11
1235-1 INSIDE RELEASE HANDLE — STAINLESS STEEL S 248.61
1264 TOP CLOSURE BASE WITH NUTS AND BOLTS S 5.23
1264-2 TOP CLOSURE BASE — W/ FASTENERS — STAINLESS STEEL S 22.41
1292 BREAKAWAY CENTER HINGE S 5.03
1293 BREAKAWAY END HINGE S 6.19
1336-1 TOP PANEL CLOSURE BRACKET — CURBSIDE STANDARD S 26.90
1336-2 TOP PANEL CLOSURE BRACKET — ROADSIDE STANDARD S 26.90

3 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part Description List Price
Number
1336-3 TOP PANEL CLOSURE BRACKET — CURBSIDE, FOR 8" RADIUS S 26.90
1336-4 TOP PANEL CLOSURE BRACKET — ROADSIDE, FOR 8" RADIUS S 26.90
1336-5 TOP CLOSURE BRACKET — CBSD FOR 10” RADIUS — STAINLESS STEEL S 95.10
1336-6 TOP CLOSURE BRACKET — RDSD FOR 10” RADIUS — STAINLESS STEEL S 95.10
1336-7 TOP CLOSURE BRACKET — CBSD FOR 8” — STAINLESS STEEL S 95.10
1336-8 TOP CLOSURE BRACKET — RDSD FOR 8" — STAINLESS STEEL S 95.10
1359-6 FLAT HEAD RIVET, (Stainless Steel) 1/4" x 1" S 1.21
1370 BOTTOM ROLLER STUD PLATE S 1.33
1371 COMPLETE BOTTOM BRACKET WITH COVER S 2.97
1371ASM BOTTOM BRACKET WITH COVER, COMPLETE — ASSEMBLED S 3.16
1415 SLAM LOCK ASSEMBLY WITH GUIDE PIN, “L” HANDLE, HUDSON CYLINDER S 77.21
1415-1 SLAM LOCK ASSEMBLY WITH GUIDE PIN, “L” HANDLE AND BEST CYLINDER S 225.62
1415-2 SLAM LOCK ASSEMBLY WITH GUIDE PIN, NO HANDLE, NO CYLINDER S 71.75
1415-3 SLAM LOCK ASSEMBLY WITH GUIDE PIN, “L” HANDLE, NO CYLINDER S 71.62
1415-4 SLAM LOCK ASSEMBLY WITH GUIDE PIN, KEYED “T” HANDLE S 69.05
1415-5 SLAM LOCK ASSEMBLY WITH GUIDE PIN, RECESSED HANDLE AND CYLINDER S 205.66
1415-6 SLAM LOCK ASSEMBLY WITH GUIDE PIN, FOLDING “T” HANDLE, NO CYLINDER S 84.74
1457 SLAM LOCK ASSEMBLY, FOR TOP PANEL S 94.80
1667 FRONT PLATE FOR 70-200 LOCK S 21.67
1715 GRAB HANDLE S 2.53
1715BLK GRAB HANDLE, TOPCOATED BLACK S 4.73
1715-10 GRAB HANDLE (With 4 holes) S 2.53
1715-20BLK GRAB HANDLE — 2 HOLE — STAINLESS STEEL S 10.88
1715-30BLK GRAB HANDLE — 4 HOLE — STAINLESS STEEL S 10.00
1796 MOUNTING ANGLE FOR COLDSAVER OR TEMPSAVER (Specify length) S 0.55 /in.
ALUMINUM BOTTOM U-CHANNEL AND SEAL KEEPER FOR 3/4" DOOR
1801 FOR 70-300 LOCK (Specify length and balancer) S 40.35
ALUMINUM BOTTOM U-CHANNEL AND SEAL KEEPER FOR 1”
1802 PIGGYBACK DOOR (Specify length, Type of lock, and balancer) S 38.49
1819 HUDSON CYLINDER WITH KEY AND CAM S 15.15
1823 STEEL PANEL STIFFENER, 7/8", (Specify length) S 50.64
1920 TOP CLOSURE MOUNTING BRACKET — INSULATED DOORS S 12.49
1920-1 TOP CLOSURE MOUNTING BRACKET — STAINLESS STEEL S 44,15
1980 LATCH PLATE S 10.70
1982 LATCH PLATE — USED WITH #70 LOCK, KEYED CYLINDER S 14.41
2137 LATCH PLATE — USE WITH #75 AND #75-10 LOCKS S 10.29
2137-1 LATCH PLATE, STAINLESS, USE WITH #75 AND #75-10 LOCKS S 61.74
2159 MOUNTING PLATE — LOCK HANDLE S 3.74
2164 LOCKING “T” HANDLE (Keyed differently) S 29.10
2167 BOOT FOR INSIDE RELEASE HANDLE S 1.53
2188 INSIDE RELEASE HANDLE FOR 75 SERIES LOCKS S 21.11
2339 LATCH ROD, LENGTH = 1/2 DOOR WIDTH MINUS 1 5/16" S 8.08
2341 INSIDE RELEASE HANDLE ASSEMBLY S 6.38
2342 LATCH STRIKE "Z" SHAPE S 3.74
2344 CLEARANCE ROLLER HINGE S 5.64
2347 LOCK COVER (Specify door width) S 39.97
2370 CARRIAGE BOLT (5/16" — 18 x 5/8") S 0.42
2370-1 CARRIAGE BOLT (5/16" — 18 x 5/8") STAINLESS STEEL S 1.18
2424 BASE ASSEMBLY FOR "BEST" CYL ON TRUSS DOOR, WITH SWIVEL S 4.98
2536 GASKET (LOCKING DOOR HANDLE) S 0.65

4 of 37



Price Book 7/1/2022

[ = s = = I = = ' 8 &
Part Description List Price
Number
2543 MOUNTING ANGLE — 2" x 2" (Specify length) $ 0.48 /in.
2569 LOCK HANDLE —"L" TYPE WITHOUT CYLINDER S 29.10
2569-1 "L" HANDLE, NO CYLINDER, 2 5/8" TO COTTER PIN HOLE S 29.10
2569-2 "L" HANDLE, NO CYLINDER, 2" TO COTTER PIN HOLE S 29.10
2569-3 "L" HANDLE, NO CYLINDER, 2 1/8" TO COTTER PIN HOLE S 29.10
2576-1 LOCK STRIKE BRACKET — ROADSIDE, FOR 2" TRACK S 3.59
2576-2 LOCK STRIKE BRACKET — CURBSIDE, FOR 2" TRACK S 3.59
2699 SET SCREW —(3/8-16 x5/8") S 0.52
2799 LATCH BOX S 12.39
2799-1 LATCH BOX, STAINLESS STEEL S 73.49
2799-2 LATCH BOX, POLISHED STAINLESS STEEL S 120.94
2804 LATCH PLATE S 10.37
2804-1 LATCH PLATE, STAINLESS STEEL S 62.05
PLASTIC COATED STAINLESS STEEL CABLE WITH EYE AT BOTH ENDS
2889 (Specify length, door height - 3 1/2") S 29.02
2915 CENTER HINGE S 2.79
2915-1 CENTER HINGE, WITH STUD S 3.99
2996 2" STEEL ROLLER, WITH 3” SHAFT S 3.85
2996-2 2" STEEL ROLLER, WITH 3” STAINLESS SHAFT S 11.66
2996-3 2" STEEL ROLLER, WITH 5” SHAFT S 5.87
3161 LATCH BAR — HALF OVAL, 1 1/4" x 1 9/16" S 4.42
3161-1 LATCH BAR — HALF OVAL, 1 1/4" x 1 3/4" S 4.73
3161-2 LATCH BAR — HALF OVAL, 1 1/4" x 1 1/4" S 4.02
3161-3 LATCH BAR — HALF OVAL, 1 1/4" x 1 23/32" S 5.54
31614 LATCH BAR — HALF OVAL, 1 1/4" x 2" STAINLESS S 9.59
3161-5 LATCH BAR — HALF OVAL, 1 1/4" x 2" S 6.41
3161-6 LATCH BAR — HALF OVAL, 1 1/4" x 1 9/16" STAINLES S 7.51
3204 LATCH PLATE, 2 x 10 7/8", FOR #77 LOCK S 11.41
#77 TYPE LOCK WITH INSIDE RELEASE HANDLE, LESS KEEPER —
3223 DRY FREIGHT DOOR S 183.59
#77 TYPE LOCK WITH INSIDE RELEASE HANDLE, LESS KEEPER —

3223-3 DRY-FREIGHT DOOR — STAINLESS STEEL S 542.98
3224 #77 TYPE LOCK WITH INSIDE RELEASE HANDLE, LESS KEEPER — TEMPGUARD S 183.59
#77 TYPE LOCK WITH INSIDE RELEASE HANDLE, LESS KEEPER — TEMPGUARD -

3224-3 STAINLESS STEEL S 542.98
3225 #77 TYPE LOCK WITH INSIDE RELEASE HANDLE, LESS KEEPER — COLDSAVER S 183.59

#77 TYPE LOCK WITH INSIDE RELEASE HANDLE, LESS KEEPER — COLDSAVER DOOR
3225-3 STAINLESS STEEL S 542.98
3226 INSIDE RELEASE HANDLE ONLY, FOR #77 LOCK S 28.99
3226-1 INSIDE RELEASE HANDLE ONLY — STAINLESS STEEL S 285.38
3228 2" TRACK ROLLER, NYLON, 3” SHAFT S 3.59
3228-6 2" TRACK ROLLER, NYLON, SEALED, 3” SHAFT S 10.06
3228-3 2" TRACK ROLLER, NYLON, 3” STAINLESS SHAFT S 14.61
3228-5 2" TRACK ROLLER, NYLON, 5” STAINLESS SHAFT S 15.78
3500 1" ROLLER ASSEMBLY — SCREW IN TYPE S 1.05
3575 LOCK HANDLE, "D" STYLE WITH HUDSON CYLINDER S 161.18
3555 CABLE GUIDE FOR TOP PANEL LOCK S 1.33
3580 7/8" ROLLER ASSEMBLY — SCREW IN TYPE S 1.00
3592 FILLER PLUG — BEVERAGE DOOR S 2.26
3615 SLAM LOCK ASSEMBLY, NO HANDLE, NO CYL, DRILLED FOR SPECIAL HANDLE S 71.75

5 of 37



Price Book 7/1/2022

[ = s = = I = = ' 8 &
Part Description List Price
Number
3616 LATCH PLATE, WITH TAPERED HOLES — FOR SLAM TYPE LOCK S 10.14
3747 HARDWARE BOX FOR 100" HIGH PREMIUM UNIVERSAL DOOR S 253.89
3747-6 HARDWARE BOX FOR 90" HIGH PREMIUM UNIVERSAL DOOR S 253.89
4003 BOTTOM ROLLER BRACKET S 3.50
4004 CABLE ANCHOR BRACKET S 1.78
4012 CENTER HINGE S 2.76
4020 CABLE ASSEMBLY — 1/4" EYE, STAINLESS STEEL — 110" LONG S 17.02
4020-1 CABLE ASSEMBLY — 1/4" EYE, STAINLESS STEEL — 115" LONG S 17.19
4020-2 CABLE ASSEMBLY — 1/4" EYE, STAINLESS STEEL — 130" LONG S 18.71
4020-3 CABLE ASSEMBLY — 1/4" EYE, STAINLESS STEEL — 85" LONG S 14.56
4020-5 CABLE ASSEMBLY — 1/4" EYE, STAINLESS STEEL — 82" LONG S 13.04
4021 LATCH PLATE FOR #4077 TYPE LOCKS S 10.37
4021-1 LATCH PLATE FOR #4077 TYPE LOCKS, STAINLESS S 61.76
4024 LATCH BOX FOR #4077 TYPE LOCKS S 16.62
4026 1" STEEL ROLLER, PRECISION S 3.44
4027 1" STEEL ROLLER — STANDARD S 3.40
4038 TOP BRACKET SLIDE S 2.08
4039 TOP ROLLER BRACKET ASSEMBLY, COMPLETE S 11.33
4051 TOP BRACKET, BASE ONLY S 7.56
4066 REINFORCEMENT STRAP S 47.48
4077 LOCK, NO KEEPER S 96.96
4077-1 LOCK, OFFSET CAM, NO KEEPER S 96.96
4082 HARDWARE BOX FOR 90" HIGH GENERAL PURPOSE UNIVERSAL DOOR S 266.82
4083 HARDWARE BOX FOR 100" HIGH GENERAL PURPOSE UNIVERSAL DOOR S 278.15
4101-6 HARDWARE BOX, GENERAL PURPOSE DOORS, 6 PANEL S 72.46
4101-7 HARDWARE BOX, GENERAL PURPOSE DOORS, 7 PANEL S 72.46
4101-8 HARDWARE BOX, GENERAL PURPOSE DOORS, 8 PANEL S 72.46
4101-9 HARDWARE BOX, GENERAL PURPOSE DOORS, 9 PANEL S 72.46
4110 CHAIN LOCK, NO CHAIN S 15.40
4126 SAFETY CHAIN — 8" S 8.06
4126-1 SAFETY CHAIN — 10" S 10.16
4126-3 SAFETY CHAIN — 13" S 12.70
4132 SAFETY CHAIN LOCK WITH 8” CHAIN (Specify length) S 23.43
4181 PANEL STIFFENER, FLAT, 3" x 80 1/2", 7 GA S 44.35
#4077 TYPE LOCK WITH INSIDE RELEASE HANDLE LESS KEEPER
4347 (Dry Freight Door) S 183.59
4565 1” STEEL ROLLER, STAMPED S 3.59
4642 SAFETY CHAIN, STAINLESS, 10" LONG WITH LARGER LINK ON ONE END S 86.10
4695 SIDE LATCH ASSEMBLY, HOOK TYPE, CURBSIDE S 25.23
4696 SIDE LATCH ASSEMBLY, HOOK TYPE, ROADSIDE S 25.23
4714-4 #4077 TYPE LOCK WITH INSIDE RELEASE HANDLE, LESS KEEPER (Truss door) S 183.57
5387 GASKET FOR "BEST" CYLINDER S 0.34
5421-1 LATCH PLATE, STAMPED STOPS, FOR GENERAL PURPOSE DOOR S 11.12
5421-2 LATCH PLATE, STAMPED STOPS, FOR PREMIUM DOOR S 11.57
5437 LATCH PLATE, .750" x 2" S 5.11
5453-1 END CAP —13 5/16" — TEMPSAVER S 10.37
5453-2 END CAP — 15 5/16" — TEMPSAVER S 10.37
5488 CABLE ANCHOR S 1.59
5502 BOTTOM ROLLER CLAMP S 4.31
5502-2 BOTTOM ROLLER CLAMP — STAINLESS STEEL S 17.37

6 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part i . .
Description List Price
Number

5504 WEAR PLATE - STAINLESS STEEL S 7.23
5509 STUD PLATE S 8.00
5509-1 STUD PLATE — STAINLESS STEEL S 31.11
5534 INSIDE RELEASE HANDLE FOR KEEPER S 3.24
5589 PVC SPACER SHIM 2 7/8" x 1 3/4" S 1.27
5600 BOTTOM ROLLER BRACKET ASSEMBLY S 19.23
5600-3 BOTTOM ROLLER BRACKET — W/ COVER — STAINLESS STEEL S 68.04
5675 JOINT GUARD — ROADSIDE S 1.33
5676 JOINT GUARD — CURBSIDE S 1.33
5677BLK #77 TYPE LOCK WITH FALLAWAY CAM, TOP COATED BLACK,

NO HANDLE KEEPER, (Tempguard door) S  215.69
5677-1 #77-1 TYPE LOCK WITH FALLAWAY CAM,

NO HANDLE KEEPER (Off set cam - Tempguard door) S 208.71
5677-3 #77 TYPE LOCK WITH FALLAWAY CAM,

NO HANDLE KEEPER (Tempguard door) — STAINLESS STEEL S 781.56
5681 #77 TYPE LOCK WITH FALLAWAY CAM,

NO HANDLE KEEPER (Coldsaver door) S 208.71
5681-1 #77-1 TYPE LOCK WITH FALLAWAY CAM,

NO HANDLE KEEPER (Coldsaver door) S 208.71
5681-3 #77 TYPE LOCK WITH FALLAWAY CAM,

NO HANDLE KEEPER (Coldsaver door) — STAINLESS STEEL S 781.56
5682 #77 TYPE LOCK WITH FALLAWAY CAM,

NO HANDLE KEEPER (Dry Freight door) S 208.71
5682-3 #77 TYPE LOCK WITH FALLAWAY CAM,

NO HANLDE KEEPER (Dry Freight door) — STAINLESS STEEL S 781.56
5688 STEEL ROLLER AND BRACKET ASSEMBLY — ROADSIDE S 10.35
5689 STEEL ROLLER AND BRACKET ASSEMBLY — CURBSIDE S 10.35
5726 WEAR PLATE — FOR DOORS WITH BOTTOM SEAL - STAINLESS STEEL S 2.54
5728 ROLLER CARRIER S 2.33

LOCK ASSEMBLY ONLY FOR #5737, (HOOK STYLE)
5737L NO PANEL (Specify panel length) S 202.01
5752 LATCH ROD FOR HINGELESS TRUSS DOOR (Specify panel length) S 4.25
5762 INSIDE RELEASE HANDLE FOR HINGELESS TRUSS DOOR S 9.86
5793 OUTSIDE "L" HANDLE, 1 1/16" LONG SHAFT S 17.22
5794 LOCK MOUNTING PLATE, FOR USE WITH "BEST" CYLINDER S 2.18
5803 CABLE ANCHOR S 3.41
5803WHT CABLE ANCHOR, POWDER COATED WHITE S 5.51
5803BLK CABLE ANCHOR, TOPCOATED BLACK S 3.99
5803-2 CABLE ANCHOR — STAINLESS STEEL S 12.00
5882 LOCK COVER, CENTER, HINGELESS TRUSS DOOR (Specify door width) S 5.75
5895 CYLINDER LOCK CLIP S 1.88

LOCK KIT COMPLETE FOR TOP PANEL MOUNTED LOCK
5933 (Specify door height, door type and number of panels) S 96.64
5966 SLAM LOCK — BEVERAGE DOOR S 123.41
6089 LOCK ACTUATOR, FOR USE WITH CYCLINDER S 2.79
6257 BOTTOM ROLLER BRACKET ASSEMBLY, ROADSIDE S 25.07
6258 BOTTOM ROLLER BRACKET ASSEMBLY, CURBSIDE S 25.07
6333 PULL DOWN STRAP, SINGLE, 19" LONG, NO LOOP S 17.10
6333-1 PULL DOWN STRAP, SINGLE, 32" LONG, NO LOOP S 22.39
6333-2 PULL DOWN STRAP, SINGLE, 42" LONG, NO LOOP S 26.44

7 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part Description List Price
Number
6333-3 PULL DOWN STRAP, SINGLE, 24" LONG, NO LOOP S 19.85
6343 CAPTIVE PADLOCK KEEPER S 18.44
6345 GASKET FOR LOCK BOX S 1.89
6350 PULL DOWN STRAP, 19" LONG, FOR RELEASE OF LOCK ON TOP PANEL S 22.28
6376 KEYED LOCK BOX FOR 77 TYPE LOCK — BEST TYPE CYLINDER S 220.69
KEYED LOCK BOX FOR 77 TYPE LOCK WITH INSIDE RELEASE —
6376-1 BEST TYPE CYLINDER S 230.79
6436 LOCK SCUFF PLATE, STAINLESS, 11 3/8" HIGH x 24" LONG S 26.70
6467-1 KEEPER FOR HOOK STYLE SIDE LATCH LOCK S 4.44
6476 LATCH COVER S 1.87
6521 SIDE LATCH CONVERSION KIT, OLD TO NEW STYLE S 61.43
6571 KEYED LOCK BOX FOR 77 TYPE LOCK — HUDSON CYLINDER S 150.22
6598 SIDE LATCH LOCK ASSEMBLY, CURBSIDE S 24.04
6599 SIDE LATCH LOCK ASSEMBLY, ROADSIDE S 24.04
6714 SIDE LATCH LOCK ROD ONLY, FOR DRY FREIGHT DOORS S 4.30
6721 END GUARD — FOR INTER PANEL — CURBSIDE (Specify panel height) S 7.81
6722 CENTER GUARD — INTER PANEL (Specify panel height) S 7.81
6725 END GUARD — FOR INTER PANEL — ROADSIDE (Specify panel height) S 7.81
6799 CENTER GUARD — TOP PANEL (Specify panel height) S 7.81
6842 ROLLER CLAMP, CARGOGUARD (must use with #8070) S 1.35
6847 END GUARD — TOP PANEL — ROADSIDE (Specify panel height) S 7.81
6848 END GUARD — TOP PANEL —CURBSIDE (Specify panel height) S 7.81
6850 CENTER LOCK GUARD — BOTTOM PANEL (Specify panel height) S 7.81
6851 END GUARD — ROADSIDE — BOTTOM PANEL (Specify panel height) S 7.81
6852 END GUARD — CURBSIDE — BOTTOM PANEL (Specify panel height) S 7.81
6853 CENTER GUARD — BOTTOM PANEL (Specify panel height) S 7.81
6943 HEAVY DUTY TOP SLIDE, BRACKET ONLY S 5.19
6943-1 TOP CLOSURE SLIDE — STAINLESS STEEL S 23.74
6944 TOP CLOSURE BRACKET, COMPLETE S 10.89
6944-1 TOP CLOSURE BRACKET — W/ SLIDE — STAINLESS STEEL S 46.71
7069-1 PANEL REPAIR KIT, CURBSIDE, FOR HINGELESS PANELS S 10.63
7069-2 PANEL REPAIR KIT, ROADSIDE, FOR HINGELESS PANELS S 10.63
7142 LOCK WITH INSIDE RELEASE FOR HINGED TRUSS Il DOOR INCLUDES KEEPER S 248.50
7144 BOTTOM CHANNEL, COLDSAVER (Specify length) S 96.14
7146 BOTTOM CHANNEL, TEMPGUARD (Specify length) S 65.24
7178 PANEL INSERT, 4 1/2" LONG S 241
7180 BOTTOM ROLLER STUD BASE, HINGED TRUSS DOOR S 5.92
7180-1 STUD PLATE — STAINLESS STEEL S 32.54
7181 BOTTOM ROLLER BRACKET ASSEMBLY, COMPLETE, HINGED TRUSS DOOR S 18.37
7181-1 BOTTOM ROLLER BRACKET — HINGED TRUSS DOOR, STAINLESS S 69.46
7181HBR PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR DRY FREIGHT DOORS S 227.31
7181HBR-1 PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR COLDSAVER DOORS S 227.31
7181HBR-2 PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR 1/2" PLATE DOORS S 227.31
7181HBR-3 PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR HINGED TRUSS DOORS S 227.31
7181HBR-4 PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR TEMPGUARD DOORS S 227.31
7181HBR-5 PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR 1/4" PLATE DOORS S 227.31
7181HBR-6 PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR SHIELD DOORS S 227.31
PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR DRY FREIGHT DOORS
7181HBR-7 (STAINLESS STEEL) S 329.47

8 of 37



Price Book 7/1/2022

== = = I = = I 2 8 =
Part i . .
Description List Price
Number
PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR COLDSAVER DOORS
7181HBR-8 (STAINLESS STEEL) S 329.47
PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR 1/2" PLATE DOORS
7181HBR-9 (STAINLESS STEEL) S 329.47
PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR HINGED TRUSS DOORS
7181HBR-10 (STAINLESS STEEL) S 329.47
PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR TEMPGUARD DOORS
7181HBR-11 (STAINLESS STEEL) S 329.47
PIVOTING BOTTOM ROLLER BRACKET - RETROFIT FOR 1/4" PLATE DOORS
7181HBR-12 (STAINLESS STEEL) S 329.47
7213 LATCH COVER, END S 3.05
7250/COM LOAD BAR ASSEMBLY COMPLETE, (Specify length) S 368.46
7254 LOAD BAR CATCH BRACKET, ROADSIDE S 17.45
7255 LOAD BAR CATCH BRACKET, CURBSIDE S 17.45
7358 DROP HANDLE, 90°, PLATED S 3.88
7427 “EASY UP” LUBRICANT 11 OZ. CAN S 16.73
7427CAS "EASY UP" LUBRICANT 11 OZ. CAN - CASE OF 12 CANS S 180.70
7515 HANDLE KEEPER FOR #77 STYLE LOCKS S 23.81
7515-1 HANDLE KEEPER — STAINLESS STEEL S 161.41
7515WHT KEEPER, POWDER COATED WHITE S 27.65
7515BLK KEEPER, TOPCOATED BLACK S 25.50
7535-1 #77 TYPE LOCK KEEPER FOR INSIDE RELEASE — DRY FREIGHT DOOR S 64.91
7535-2BLK #77 TYPE LOCK KEEPER FOR INSIDE RELEASE, TOP COATED BLACK — TEMPGUARD S 66.62
7535-3 #77 TYPE LOCK KEEPER FOR INSIDE RELEASE — COLDSAVER DOOR S 64.91
7535-4 #77 TYPE LOCK KEEPER FOR INSIDE RELEASE — TRUSS DOOR S 64.91
#77 TYPE LOCK KEEPER FOR INSIDE RELEASE — DRY FREIGHT DOOR
7535-6 STAINLESS STEEL S 197.05
#77 TYPE LOCK KEEPER FOR INSIDE RELEASE — TEMPGUARD DOOR
7535-7 STAINLESS STEEL S 197.05
#77 TYPE LOCK KEEPER FOR INSIDE RELEASE — COLDSAVER DOOR
7535-8 STAINLESS STEEL S 197.05
7574 1/4" CONICAL WASHER, STAINLESS S 0.26
7857 REINFORCEMENT PLATE, TEMPGUARD S 4.60
7888 PULL STRAP ASSEMBLY WITH SWIVEL BRACKET, COMPLETE S 24.09
7894 SWIVEL BRACKET ONLY S 4.75
7952 STUD PLATE GASKET S 1.88
7953 HINGE GASKET S 1.02
7987 SIDE LATCH PANEL REINFORCEMENT S 14.58
7989 LATCH ROD FOR #7990 SIDE LOCKS, (Specify panel length) S 7.46
7990L SIDE LATCH LOCK ASSEMBLY, (HOOK STYLE) LESS PANEL (Specify width) S 194.03
8001 LOCK COVER (Specify length) S 39.76
8023-1 PULL DOWN STRAP, WHITE, 19" LONG, NO LOOP S 11.60
8023-2 PULL DOWN STRAP, WHITE, 19" LONG, 8" LOOP S 11.60
8033-1 PULL DOWN STRAP, WHITE, 32" LONG, NO LOOP S 17.10
8057 #77 LOCK REPAIR KIT (hold open device) S 3.52
8070 ROLLER HINGE, CARGOGUARD S 4.01
8071 ROLLER HINGE COMPLETE, CARGOGUARD S 5.83
8071ASM ROLLER HINGE COMPLETE, ASSEMBLED, CARGOGUARD S 5.87
8099 KEEPER, MODIFIED S 22.89
8109 BOTTOM CHANNEL, PLAIN-NO HOLES (Specify length) S 42.46

9 of 37



Price Book 7/1/2022

== = = I = = I 2 8 =
Part i . .
Description List Price
Number

ALUMINUM BOTTOM U CHANNEL AND SEAL KEEPER FOR 3/4" DOOR, PUNCHED

8174 FOR LOCK #5803 CABLE ANCHORS AND #6771 BOTTOM ROLLER BRACKETS (Specify  $ 50.20
ALUMINUM BOTTOM U CHANNEL AND SEAL KEEPER FOR 3/4" DOOR, PUNCHED

8174-1 FOR LOCK #5803 CABLE ANCHORS AND #5600 BOTTOMROLLER BRACKETS (Specify S 50.20
ALUMINUM BOTTOM U CHANNEL AND SEAL KEEPER FOR 3/4" DOOR, PUNCHED

8174-2 FOR #77 LOCK #5803 CABLE ANCHORS AND #1371 ROLLER BRACKETS (Specify S 50.20
ALUMINUM BOTTOM U CHANNEL AND SEAL KEEPER FOR 1/2” DOOR, PUNCHED

8174-5 FOR LOCK AND #5803 CABLE ANCHORS (Specify length) S 50.20
ALUMINUM BOTTOM U CHANNEL AND SEAL KEEPER FOR 1/4” PLATE DOOR,

8174-7 PUNCHED FOR 77 LOCK AND #5803 CABLE ANCHORS (Specify length) S 50.20
ALUMINUM BOTTOM U CHANNEL AND SEAL KEEPER FOR 3/4" DOOR, PUNCHED

8280 FOR #77 LOCK, #70-13 CABLE ANCHORS AND #6771 ROLLER BRACKETS (Specify S 50.20
ALUMINUM BOTTOM U CHANNEL AND SEAL KEEPER FOR 3/4" DOOR,PUNCHED FOR

8280-1 #77 LOCK, #70-13 CABLE ANCHORS AND #5600 ROLLER BRACKETS (Specify length) S 50.20
ALUMINUM BOTTOM U CHANNEL AND SEAL KEEPER FOR 3/4" DOOR, STANDARD,

8280-2 PUNCHED FOR #77 LOCK, #70-13 CABLE ANCHORS AND #1371 ROLLER BRACKETS S 50.20

8326 BRUSH SIDE SEAL ASSEMBLY (Specify length) S 0.72 /in.

8368 SIDE LATCH LOCK, FAN STYLE, ROADSIDE S 27.32

8369 SIDE LATCH LOCK, FAN STYLE, CURBSIDE S 27.32

8380 STRIKER, FOR FAN STYLE LATCH S 4.42

8420 INSIDE RELEASE HANDLE, HEAVY DUTY, HINGED TRUSS DOOR S 8.74

8621 LOCK ROD, FOR SIDE LATCH LOCK, (FAN STYLE) (specify panel length) S 8.08

8643-5 LOCK BOX, LESS ABLOY CYLINDER S 95.45

8652 TOP ROLLER SLIDE — HIGH STRENGTH S 2.45

8654 CENTER HINGE — HIGH STRENGTH S 3.31

8656 END HINGE — HIGH STRENGTH S 3.98

8718 LOCK ASSEMBLY, RECESSED, FALL AWAY CAM, FOR COLDSAVER S 208.71

8757 LOCK ASSEMBLY, RECESSED, FALL AWAY CAM, FOR TEMPGUARD S 318.72

8809 KEEPER REINFORCEMENT PLATE, TEMPGUARD S 2.32

8813 BOTTOM ROLLER BRACKET — HIGH STRENGTH, ROADSIDE, 2 PIECES S 11.40

8814 BOTTOM ROLLER BRACKET — HIGH STRENGTH, CURBSIDE, 2 PIECES S 11.40

8966 “WHITING SALES AND SERVICE” SIGN
SIDELATCH LOCK ASSEMBLY, COMPLETE WITH LOCKING “T” HANDLE (SPECIFY DOOR

9044 TYPE AND PANEL WIDTH) S 126.65

9182 LOCK CYLINDER REMOVAL TOOL S 311.77

9200-3 ALUMINUM FORKLIFT PLATE — 72" S 100.94

9200-5 ALUMINUM FORKLIFT PLATE — 36” S 50.46

9200-24 ALUMINUM FORKLIFT PLATE — 18" S 26.40
PULL STRAP WITH #7575 RETAINER, 19" LONG

9723 (FOR DOORS UP TO 96") S 12.04
PULL STRAP WITH #7575 RETAINER, 32" LONG

9723-1 (FOR DOORS UP TO 96"TO 110") S 17.36
PULL STRAP WITH #7575 RETAINER, 42" LONG

9723-2 (FOR DOORS OVER 110") S 21.33

9723-3 PULL STRAP WITH #7575 RETAINER, 19” LONG, 6” LOOP S 12.03

9723-5 PULL STRAP WITH #7575 RETAINER, 12" LONG S 7.59

9723-7 PULL STRAP WITH #7575 RETAINER, 36” LONG, 6” LOOP S 18.44

9723-8 PULL STRAP WITH #7575 RETAINER, 24” LONG, 6” LOOP S 14.76

9723-48 PULL STRAP WITH #7575 RETAINER, 48” LONG, 6” LOOP S 23.55

9723-60 PULL STRAP WITH #7575-1 — STAINLESS STEEL RETAINER, 19” S 24.17

10 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part i . .
Description List Price
Number

9723-61 PULL STRAP WITH #7575-1 — STAINLESS STEEL RETAINER, 32” S 31.49
9723-62 PULL STRAP WITH #7575-1 — STAINLESS STEEL RETAINER, 42” S 37.01
9843 PANEL REPAIR KIT — HINGED TRUSS S 11.33
15265 REAR FRAME CONVERSION KIT, 7” HEADER AND 2” POSTS S 225.65
15266 REAR FRAME CONVERSION KIT, 9” HEADER AND 2” POSTS S 292.38
15286 REAR FRAME CONVERSION KIT, 9” HEADER AND 4” POSTS S 354.44
15287 REAR FRAME CONVERSION KIT, 7” HEADER AND 4” POSTS S 329.21
15501-1ASM Anti Lozenge Bracket Complete with Cover and Nuts - Roadside S 14.24
15502-1ASM Anti Lozenge Bracket Complete with Cover and Nuts - Curbside S 14.24
15846 Anti Lozenge Bracket - Roadside S 5.07
15847 Anti Lozenge Bracket - Curbside S 5.07
15886 TOP CLOSURE BRACKET ASSEMBLY S 20.03
15887 TOP CLOSURE BRACKET ASSEMBLY COMPLETE WITH BASE S 30.57
15924ECT Upper Joint End bracket - Curbside S 2.22
15925ECT Upper Joint End bracket - Roadside S 2.22
15950 PREMIUM QUALITY ROLL-UP DOOR VIDEO (replaces #8281) S 29.18 nNeT
15951 GENERAL PURPOSE ROLL-UP DOOR VIDEO (replaces #8282) S 29.18 nNeT
16095 TOP SEAL, ALUMINUM EXTRUSION ONLY (Specify length) S 46.16
16354 WHITING NAME PLATE S 1.63
16675 1" ROLLER ASSEMBLY, BALL BEARING TYPE W/SCREW SHAFT S 6.28
232323 DO NOT MOVE DECAL S 1.77 nNer
232361 MAINTENANCE DECAL, LOCATED ON INSIDE OF DOOR S 3.29
EZKIT EZ STRAP KIT (SPECIFY DOOR HEIGHT) S 153.35

11 of 37



Price Book 7/1/2022

[ === 8 === =
Part i . .
Description List Price
Number
TRACK COMPONENTS
11-2 TRACK, HORIZONTAL ONLY — 8" RADIUS, CURBSIDE (Specify length) BLACK S 0.47 /in.
11-3 TRACK, HORIZONTAL ONLY — 8" RADIUS, ROADSIDE (Specify length) BLACK S 0.47 /in.
114 TRACK, HORIZONTAL ONLY — 10" RADIUS, CURBSIDE (Specify length) RED S 0.47 /in.
11-5 TRACK, HORIZONTAL ONLY — 10" RADIUS, ROADSIDE (Specify length) RED S 0.47 /in.
11-6 TRACK, HORIZONTAL ONLY — 6" RADIUS, CURBSIDE (Specify length) BLUE S 0.47 /in.
11-7 TRACK, HORIZONTAL ONLY — 6" RADIUS, ROADSIDE (Specify length) BLUE S 0.47 /in.
TRACK, HORIZONTAL OR VERTICAL, 45° BEND — 6" RADIUS, CURBSIDE
11-10 (Specify length) S 0.47 /in.
TRACK, HORIZONTAL OR VERTICAL, 45° BEND — 6" RADIUS, ROADSIDE (Specify
11-11 length) S 0.47 /in.
61 MOUNTING ANGLE (2 3/8" x 2 3/8") SPECIFY LENGTH S 0.55 /in.
83 TRACK STOP BUMPER S 1.89
1031 VERTICAL STRAIGHT TRACK, 2" (Specify length) $ 0.36 Jin.
1" HORIZONTAL BEVERAGE TRACK — 6 1/2" RADIUS — ROADSIDE
1194-1 (Specify length) S 0.47 /in.
1" HORIZONTAL BEVERAGE TRACK — 6 1/2" RADIUS — CURBSIDE
1194-2 (Specify length) S 0.47 /in.
1" HORIZONTAL BEVERAGE TRACK — 8 1/2" RADIUS — ROADSIDE
1195-1 (Specify length) S 0.47 /in.
1" HORIZONTAL BEVERAGE TRACK — 8 1/2" RADIUS — CURBSIDE
1195-2 (Specify length) S 0.47 /in.
1196 1" VERTICAL BEVERAGE TRACK (Specify length) $ 0.36 Jin.
1388 TRACK CLIP, FLAT, 4" Hx 3 3/4",12 GA S 1.65
1971 RUBBER STOP — 1" BEVERAGE STYLE TRACK S 1.89
VERTICAL TRACK & MOUNTING ANGLE ASSEMBLY — CURBSIDE —
2268 TEMPGUARD, 1 5/8" SPACING (Specify length) $ 0.69 /in.
VERTICAL TRACK & MOUNTING ANGLE ASSEMBLY — ROADSIDE —
2269 TEMPGUARD, 1 5/8" SPACING (Specify length of each) S 0.69 /in.
VERTICAL TRACK & MOUNTING ANGLE ASSEMBLY — CURBSIDE —
2270 COLDSAVER, 2 1/8" SPACING (Specify length of each) S 0.74 /in.
VERTICAL TRACK & MOUNTING ANGLE ASSEMBLY — ROADSIDE —
2271 COLDSAVER, 2 1/8" SPACING (Specify length of each) S 0.74 /n.
VERTICAL TRACK & MOUNTING ANGLE ASSEMBLY — CURBSIDE —
2275-1 DRY FREIGHT (Specify length of each and track spacing) S 0.74 /in.
VERTICAL TRACK & MOUNTING ANGLE ASSEMBLY — ROADSIDE —
2275-2 DRY FREIGHT (Specify length of each and track spacing) S 0.74 /in.
2418 HORIZONTAL TRACK CLIP, FLAT, 3" x 3" S 1.31
2539-1 HORIZONTAL TRACK, 6 1/2" DUAL RADIUS, ROADSIDE, 115" LONG, LITEWEIGHT S 52.50
2539-2 HORIZONTAL TRACK, 6 1/2" DUAL RADIUS, CURBSIDE, 115" LONG, LITEWEIGHT S 52.50
2998 2” TRACK CONNECTOR SLEEVE S 2.68
3648 TRACK CLIP, 2 7/8" HIGH x 2" LONG, 11/32" OFFSET S 2.37
4015 STRAIGHT TRACK, 1" (Specify length) S 0.36 /in.
MOUNTING ANGLE, VERTICAL TRACK AND BRACKET ASSEMBLY — ROADSIDE
4045 (Specify length of each) S 63.99
MOUNTING ANGLE, VERTICAL TRACK AND BRACKET ASSEMBLY — CURBSIDE
4046 (Specify length of each) S 63.99
4047 TRACK CONNECTOR SLEEVE S 1.33
4052 HORIZONTAL TRACK — 6” SPLIT RADIUS, 40°, ROADSIDE (Specify length) S 24.23

12 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part i . .
Description List Price
Number
4053 HORIZONTAL TRACK — 6” SPLIT RADIUS, 40°, CURBSIDE (Specify length) S 24.23
4054 HORIZONTAL TRACK — 11" SPLIT RADIUS, 40°, ROADSIDE (Specify length) S 24.23
4055 HORIZONTAL TRACK — 11" SPLIT RADIUS, 40°, CURBSIDE (Specify length) S 24.23
4056 VERTICAL TRACK — 6” RADIUS, 50°, ROADSIDE (Specify length) S 24.23
4057 VERTICAL TRACK — 6” RADIUS, 50°, CURBSIDE (Specify length) S 24.23
4092 HORIZONTAL TRACK — 6” RADIUS, 90°, ROADSIDE (Specify length) S 24.23
4093 HORIZONTAL TRACK — 6” RADIUS, 90°, CURBSIDE (Specify length) S 24.23
4116 HORIZONTAL TRACK, 6”-11" RADIUS, 45°, ROADSIDE (Specify length) S 24.23
HORIZONTAL TRACK, 6”-11" R, ROADSIDE WITH ROLLER RETAINER
4116-2 (Specify length) S 24.23
4117 HORIZONTAL TRACK, 6”-11" RADIUS, 45°, CURBSIDE (Specify length) S 24.23
HORIZONTAL TRACK, 6”-11" R, CURBSIDE WITH ROLLER RETAINER

4117-2 (Specify length) S 24.23
4120 VERT TRACK ASSEMBLY, ROADSIDE (Specify Lengths) S 61.52
4121 VERT TRACK ASSEMBLY, CURBSIDE (Specify Lengths) S 61.52
4204 TRACK STOP BUMPER S 1.53
4214 TRACK CLIP, 2 1/4" HIGH x 2" LONG, FLAT S 5.18
4235 VERT TRACK ASSEMBLY, ROADSIDE, GENERAL PURPOSE, (Specify lengths) S 63.99
4236 VERT TRACK ASSEMBLY, CURBSIDE, GENERAL PURPOSE, (Specify lengths) S 63.99
4423 VERT TRACK ASSEMBLY, ROADSIDE, GENERAL PURPOSE (Specify lengths) S 63.99
4424 VERT TRACK ASSEMBLY, CURBSIDE, GENERAL PURPOSE (Specify lengths) S 63.99
5051 TRACK STOP, 1 1/4" DIA S 1.83
5656 TRACK STOP FOR GENERAL PURPOSE TRACK, YELLOW S 6.38
5920 TRACK STOP ASSEMBLY — ROADSIDE S 3.67
5921 TRACK STOP ASSEMBLY — CURBSIDE S 3.67
5981 TRACK CLIP, 2 7/8" HIGH x 2" LONG, 7/8" OFFSET S 1.37
6610 TRACK CLIP, 3" HIGH x 3 1/2" WIDE, SPECIAL OFFSET S 1.81
7458 HORIZONTAL TRACK, 6” — 6” RADIUS, ROADSIDE (Specify length) S 0.47 /in.
7459 HORIZONTAL TRACK, 6” — 6” RADIUS, CURBSIDE (Specify length) S 0.47 /in.
8833 2" TRACK SAFETY BUMPER S 6.38
15123 TRACK REPAIR TOOL S 51.65 nNer

13 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part i . .
Description List Price
Number
BALANCER COMPONENTS
152 BALANCER BRACKET — CURBSIDE, 2 5/8" S 4.87
153 BALANCER BRACKET — ROADSIDE, 2 5/8" S 4.87
91 SINGLE SPRING BALANCER ASSEMBLY — (Specify overall length) S 198.89
20560COM BALANCER,WINDER ASSY-W/SCREWS S 38.58
20560COM-2376 BALANCER,WINDER RETROFIT KIT FOR 2376 BALANCER S 44.11
20560COM-7176 BALANCER,WINDER RETROFIT KIT FOR 7176 BALANCER S 55.71
2376 BALANCER ASSEMBLY — DOUBLE CABLE S 278.03
DOUBLE CABLE, TWO SPRING BALANCER, METAL CABLE DRUMS AND E-COATED
2376-6 SPRINGS (Specify shaft length and spring size) S 339.56
DOUBLE CABLE, TWO SPRING BALANCER, METAL CABLE DRUMS AND E-COATED
2376-7 SHAFT (Specify shaft length and spring size) S 355.67
DOUBLE CABLE, TWO SPRING BALANCER, SPLIT SHAFT FOR SIDE DOOR
2376-9 APPLICATIONS (Specify shaft length and spring size) S 289.44
DOUBLE CABLE, TWO SPRING BALANCER, WITH SIX HOLE WINDING CONES (Specify
2376-10 shaft length and spring size) S 278.03
2466-1 CAST CABLE DRUM AND BEARING ASSEMBLY — CURBSIDE S 77.13
2466-2 CAST CABLE DRUM AND BEARING ASSEMBLY — ROADSIDE S 77.13
SPRING SPACER — (CUT TO RELAXED SPRING LENGTH PLUS 4 1/4")
2471 (Specify length) S 15.62
2518COM WINDING CONE WITH SET SCREWS S 23.14
2522 THRUST WASHER S 0.43
2523 BALANCER BRACKET — CURBSIDE S 4.87
2523-1 BALANCER BRACKET — CURBSIDE, STAINLESS STEEL S 18.67
2524 BALANCER BRACKET — ROADSIDE S 4.87
2524-1 BALANCER BRACKET — ROADSIDE, STAINLESS STEEL S 18.67
2525 BALANCER BRACKET — CENTER S 4.87
2525-1 BALANCER BRACKET — CENTER, STAINLESS STEEL S 18.67
2526 CLAMP ASSEMBLY WITH STUDS S 5.87
2526-1 CLAMP ASSEMBLY WITH STUDS, STAINLESS STEEL S 20.12
2528 SHAFT FOR #2376 BALANCER (Specify length) $ 38.45
2547 CABLE DRUM AND BEARING ASSEMBLY — RDSD (Stamped 2901) S 46.41
2548 CABLE DRUM AND BEARING ASSEMBLY — CBSD (Stamped 2902) S 46.41
2594 LOCK WASHER BEARING RETAINER (2376 BALANCER) S 0.47
TORSION SPRING — 1 3/4" I.D. L.H.
2700 Less than 40" in length (Specify wire size and length) S 39.85
TORSION SPRING — 1 3/4" 1.D. L.H.
2700 Greater than or equal to 40" in length(Specify wire size and length) S 58.03
TORSION SPRING — 1 3/4" I.D. R.H.
2701 Less than 40" in length (Specify wire size and length) S 39.85
TORSION SPRING — 1 3/4" 1.D. R.H.- Greater than or equal to 40" in length (Specify
2701 wire size and length) S 58.03
TORSION SPRING — 2 3/16" I.D. L.H., ROADSIDE — 2376 BALANCER-
2704 Less than 40" in length (Specify wire size and length) S 65.01
TORSION SPRING — 2 3/16" I.D. L.H., ROADSIDE — 2376 BALANCER-
2704 Greater than or equal to 40" in length (Specify wire size and length) S 79.86
TORSION SPRING — 2 3/16" I.D. R.H., CURBSIDE — 2376 BALANCER-
2705 Less than 40" in length (Specify wire size and length) S 65.01

14 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part i . .
Description List Price
Number
TORSION SPRING — 2 3/16" I.D. R.H., CURBSIDE — 2376 BALANCER-
2705 Greater than or equal to 40" in length (Specify wire size and length) S 79.86
TORSION SPRING — 2 5/8" 1.D. L.H., ROADSIDE — 7176 BALANCER-
2712 Less than 40" in length (Specify wire size and length) S 65.01
TORSION SPRING — 2 5/8" I.D. L.H., ROADSIDE — 7176 BALANCER-
2712 Greater than or equal to 40" in length (Specify wire size and length) S 79.86
TORSION SPRING — 2 5/8" 1.D. R.H., CURBSIDE — 7176 BALANCER-
2713 Less than 40" in length (Specify wire size and length) S 65.01
TORSION SPRING — 2 5/8" I.D. R.H., CURBSIDE — 7176 BALANCER-
2713 Greater than or equal to 40" in length (Specify wire size and length) S 79.86
2806 SPRING ASSEMBLY FOR #2376, ROADSIDE (Specify size and length) S 150.54
2807 SPRING ASSEMBLY FOR #2376, CURBSIDE (Specify size and length) S 150.54
3100 BALANCER CENTER SHAFT (Specify length) S 0.57 /in.
CONVERSION KIT —TO ADAPT TO #2376 BALANCER —
3187 (BALANCER NOT INCLUDED) S 63.37
3541 BALANCER BRACKET, SHALLOW HEADER, END S 2.30
3542 BALANCER BRACKET, SHALLOW HEADER, END & CENTER S 2.97
3543 BALANCER BRACKET, SHALLOW HEADER, CENTER CLAMP S 1.24
3545 BALANCER BRACKET, SHALLOW HEADER, END CLAMP S 3.07
4013COM CABLE DRUM WITH SET SCREWS — CURBSIDE — FOR DOORS UP TO 105" HIGH S 15.89
4014COM CABLE DRUM WITH SET SCREWS — ROADSIDE — FOR DOORS UP TO 105" HIGH S 15.89
4025 SPRING ANCHOR PLUG -1 3/4" S 5.70
4028 BALANCER BRACKET — ROADSIDE AND CENTER S 5.32
4029 BALANCER BRACKET — CURBSIDE S 5.32
4033 BEARING AND RETAINER ASSEMBLY S 11.73
4049COM WINDING CONE — 1 3/4" WITH SIX HOLES- COMPLETE WITH SCREWS S 5.70
4050COM WINDING CONE — 1 3/4" WITH FOUR HOLES- COMPLETE WITH SCREWS S 5.70
4079COM WINDING CONE, 6 HOLE, FOR 2 3/16" SPRING S 7.27
4086 BALANCER BRACKET, USE WITH #4290 BALANCER S 3.36
4087 BEARING ASSEMBLY, USE WITH #4290 BALANCER S 12.43
BALANCER ASSEMBLY, LESS BEARINGS AND BRACKETS -
4090 FOR DOORS UP TO 105” HIGH (Specify shaft length and spring size) S 204.27
BALANCER ASSEMBLY LESS BEARINGS AND BRACKETS -
4090-1 FOR DOORS 105 TO 120" HIGH (Specify shaft length and spring size) S 204.27
4090-2 BALANCER ASSEMBLY FOR DOORS OVER 105" HIGH, COMPLETE WITH 2 BEARINGS S 264.48
4090SA SPRING ASSEMBLY, ONLY FOR #4090 (Specify spring size) $ 82.73
CABLE DRUM, METAL, WITH SET SCREWS — CURBSIDE —
4127COM FOR DOORS UP TO 144" HIGH S 23.56
CABLE DRUM, METAL, WITH SET SCREWS — ROADSIDE —
4128COM FOR DOORS UP TO 144" HIGH S 23.56
4290 BALANCER ASSEMBLY FOR SHALLOW HEADER (Specify door size) S 204.27
6976 BALANCER ASSEMBLY, DOUBLE CABLE (Specify shaft length and spring size) S 219.29
6976-2 BALANCER ASSEMBLY, DOUBLE CABLE (Specify shaft length and spring size) S 239.92
7061 TOP CAP FOR COLDSAVER BRUSH SEAL, LESS SEAL (Use with #5843 brush) S 17.66
7096COM CABLE DRUM FOR #7176 BALANCER, CURBSIDE S 49.86
7097COM CABLE DRUM FOR #7176 BALANCER, ROADSIDE S 49.86
7176 BALANCER ASSEMBLY, DOUBLE CABLE (Specify shaft length and spring size) S 313.01
7205 BALANCER BRACKET FOR #7176 BALANCER, ROADSIDE S 5.48
7205-2 BALANCER BRACKET FOR #7176 BALANCER, ROADSIDE, STAINLESS STEEL S 19.55
7206 BALANCER BRACKET FOR #7176 BALANCER, CURBSIDE S 5.48

15 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part i . .
Description List Price
Number
7206-2 BALANCER BRACKET FOR #7176 BALANCER, CURBSIDE, STAINLESS STEEL S 19.55
7207 BALANCER BRACKET FOR #7176 BALANCER, CENTER S 5.48
7207-2 BALANCER BRACKET FOR #7176 BALANCER, CENTER , STAINLESS STEEL S 19.55
7232 SPRING SPACER FOR #7176 BALANCER S 15.62
7549COM WINDING CONE FOR #7176 BALANCER, 6 HOLE, CURBSIDE S 24.75
7550COM WINDING CONE FOR #7176 BALANCER, 6 HOLE, ROADSIDE S 24.75
7905 CONVERSION KIT TO ADAPT TO #7176 BALANCER (Balancer not included) S 63.74
8086 SPRING ASSEMBLY FOR #7176, ROADSIDE (Specify size and length) S 170.13
8087 SPRING ASSEMBLY FOR #7176, CURBSIDE (Specify size and length) S 170.13
8690 BALANCER, SINGLE SPRING, (Specify wire size, spring length, shaft length) S 218.50

16 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part i . .
Description List Price
Number

SEALS

1192 BOTTOM SEAL — BEVERAGE (Specify length) $ 11.64
1676 BOTTOM SEAL (Specify length) S 16.70
2037 TOP SEAL — BEVERAGE (Specify length) S 19.13
2037-1 HEADER, SEAL, 1 1/2" WIDE, 70 1/2" LONG, BLACK S 19.13
2088 BOTTOM SEAL ONLY (Specify length) S 14.90
2445 SIDE SEALS (Specify length) S 17.64
2501 JOINT SEAL FOR HINGELESS TRUSS PANEL, (Specify length) S 3.24
2501-0 SECTION JOINT SEAL FOR TEMPGUARD DOOR (Specify length) S 3.24
3257 BOTTOM SEAL (Specify length) S 18.84
3765 BOTTOM SEAL — FOUR LEG (Specify length) S 19.56
3766 AUXILIARY SIDE SEAL (Specify length) S 30.87
4019 SIDE SEAL (Specify length) S 17.22
4032 TOP SEAL ASSEMBLY (Specify length) S 22.38
4034 BOTTOM SEAL RETAINER (Specify length) S 26.92
4143-1 BOTTOM SEAL, FOUR LEG S 23.43
5377 SIDE SEAL, SNAP IN STYLE, FOR 1/2" TRACK SPACING, GRAY (Specify length) S 20.99

SIDE SEAL, SNAP IN STYLE, FOR 5/16" TRACK SPACING, BLACK AND GRAY

5423 (Specify length) S 24.06
5463 TEMPSAVER TOP SEAL AND CAP (Specify length) $ 15.67
5464 COLDSAVER TOP SEAL AND CAP (Specify length) $ 15.67
5735 BOTTOM SEAL (Specify length) $ 18.23
5833 SIDE BRUSH SEAL, BRUSH ONLY (Specify length) $ 0.41 /in.
5837 BRUSH SIDE SEAL ASSEMBLY (Specify length) $ 0.44 /in.
5843 TOP BRUSH ONLY (Specify length) S 0.48 /in.
5886 BRUSH TOP SEAL ASSEMBLY (Specify length) $ 0.55 /in.
5887 BRUSH TOP SEAL AND CAP ASSEMBLY (Specify length) S 0.62 /in.
5890 AUXILIARY BRUSH SIDE SEAL ASSEMBLY (Specify length) S 0.52 /in.
6581 BRUSH SIDE SEAL ASSEMBLY (Specify length) $ 0.48 /in.
6589 INSULATED DOOR BRUSH SIDE SEAL ASSEMBLY (Specify length) S 0.50 /in.
6867 BRUSH TOP SEAL ASSEMBLY (Specify length) $ 0.55 /in.
7131 BRUSH SIDE SEAL ASSEMBLY (Specify length) $ 0.43 /in.
7145 BOTTOM SEAL (Specify length) $ 16.43
7147 BOTTOM SEAL FOR #7146 CHANNEL (Specify length) S 16.43
7271 BRUSH TOP SEAL RETAINER FOR TEMPGUARD, LESS BRUSH S 15.67
7277 BRUSH SIDE SEAL (Specify length) $ 0.43 /in.
7470 SIDE SEAL, INSULATED DOOR (Specify length) $ 20.77
7489 TOP BRUSH SEAL, COMPLETE, WITH BRUSH (Specify length) S 0.55 /in.
7552 VINYL TOP SEAL ONLY (Specify length) $ 9.48
7812 BOTTOM SEAL — WHITE (Specify length) $ 9.88
7840 BRUSH SIDE SEAL, CLEAR, BRUSH ONLY, (Specify length) S 0.47 /in.
7841 TOP BRUSH SEAL ASSEMBLY (Specify length) $ 1.06 /in.
7842 TOP BRUSH SEAL ASSEMBLY (Specify length) $ 0.60 /in.
7843 BRUSH SIDE SEAL ASSEMBLY (Specify length) $ 0.65 /in.
9161 BRUSH SIDE SEAL ASSEMBLY (Specify length) $ 0.72 /in.
9900 SIDE SEAL, EXTRUDED ALUMINUM DOOR (Specify length) S 22.53
15353 VINYL TOP SEAL FOR HINGED TRUSS Il DOOR S 16.34
16124 SIDE SEAL, VINYL, DRIVE IN STYLE (Specify length) S 31.42
18544 VINYL BOTTOM SEAL FOR 1/4" PLATE DOOR (Specify Length) S 18.21

17 of 37



Price Book 7/1/2022

== = = I = = I 2 8 =
Part i . .
Description List Price
Number
19012 DRIVE IN BRUSH SIDE SEAL ASSY FOR 1/2" PLATE DOOR S 0.43 /in.
21203 SEAL,ASSY BRUSH SIDE FOR HINGED TRUSS DOOR S 0.66 /in.
21245 SEAL,SIDE BRUSH & VINYL-DUAL LEG COMBO SEAL FOR INSULATED DOORS S 0.52 /in.

18 of 37



Price Book 7/1/2022

[ B A S B I RBI AL 3
Part i . .
Description List Price
Number
Premium Wood Core Dry Freight Panels
-3/4" thickness
-Primed white as standard
SHIP LAP JOINT
TOP Specify height &
240 PANEL PLAIN length S 78.09
TOP Specify height &
241 PANEL COMPLETE WITH TOP SEAL & CLOSURE BRACKETS length S 120.77
INTERMEDIATE Specify height &
242 PANEL PLAIN length S 77.26
BOTTOM Specify height &
243 PANEL PLAIN length S 79.11
245 BOTTOM PLAIN Specify height &
PANEL (FOR 70 LOCK) length S 114.75
245-1 BOTTOM ALUMINUM U CHANNEL & SEAL ONLY Specify height &
) PANEL (FOR 70 LOCK) length S 142.69
2452 BoTTOM  |STEEL U CHANNEL ONLY Specify height &
) PANEL (FOR 77 LOCK) length S 114.73
245-3 BOTTOM ALUMINUM U CHANNEL & SEAL ONLY Specify height &
) PANEL (FOR 77 LOCK) length S 142.69
246 BOTTOM COMPLETE LESS LOCK WITH STEEL U CHANNEL Specify height &
PANEL (FOR 77 LOCK) length $ 187.51
246-1 BOTTOM COMPLETE LESS LOCK WITH STEEL U CHANNEL Specify height &
) PANEL (FOR 77 LOCK) length $ 187.51
246-2 BOTTOM COMPLETE LESS LOCK WITH ALUMINUM U CHANNEL & SEAL  |specify height &
PANEL  [(FOR 77 LOCK) length $ 22582
246-3 BOTTOM COMPLETE LESS LOCK WITH ALUMINUM U CHANNEL & SEAL  |specify height &
PANEL (FOR 70 LOCK) length S 225.82
247 BOTTOM COMPLETE WITH LOCK AND STEEL U CHANNEL Specify height &
PANEL (INCLUDES 77 LOCK) length S 266.33
247-1 BOTTOM COMPLETE WITH LOCK AND STEEL U CHANNEL Specify height &
PANEL (INCLUDES 70 LOCK) length S 292.47
248 BOTTOM COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |specify height &
PANEL  [(INCLUDES 77 LOCK) length $  299.96
248-1 BOTTOM COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |specify height &
PANEL  |(INCLUDES 70-300 LOCK) length S 326.05
TONGUE & GROOVE JOINT
TOP Specify height &
340 PANEL PLAIN length S 78.09
TOP Specify height &
341 PANEL COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS length $ 120.77
INTERMEDIATE Specify height &
342 PANEL PLAIN length S 77.26
BOTTOM Specify height &
343 PANEL PLAIN length S 79.11
345 BOTTOM STEEL U CHANNEL ONLY Specify height &
PANEL (FOR 70 LOCK) length S 114.73
345-1 BOTTOM ALUMINUM U CHANNEL & SEAL ONLY Specify height &
B PANEL (FOR 70 LOCK) length S 137.16
345-2 BOTTOM STEEL U CHANNEL ONLY Specify height &
) PANEL (FOR 77 LOCK) length S 114.73
345-3 BOTTOM ALUMINUM U CHANNEL & SEAL ONLY Specify height &
) PANEL (FOR 77 LOCK) length S 142.69

19 of 37



[ == A R s a_a

Price Book 7/1/2022

Part .. . .
Description List Price
Number

346 BOTTOM  |COMPLETE LESS LOCK WITH STEEL U CHANNEL Specify height &

PANEL (FOR 77 LOCK) length S 187.51
346.2 BOTTOM  |COMPLETE LESS LOCK WITH ALUMINUM U CHANNEL & SEAL  |specify height &

PANEL (FOR 77 LOCK) length S 225.82
346-3 BOTTOM  |COMPLETE LESS LOCK WITH ALUMINUM U CHANNEL & SEAL  |specify height &

PANEL (FOR 70 LOCK) length S 225.82
347 BOTTOM  |COMPLETE WITH LOCK AND STEEL U CHANNEL Specify height &

PANEL (INCLUDES 77 LOCK) length S 266.33
3471 BOTTOM  |COMPLETE WITH LOCK AND STEEL U CHANNEL Specify height &

PANEL (INCLUDES 70 LOCK) length S 29247
348 BOTTOM  |COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |specify height &

PANEL (INCLUDES 77 LOCK) length S 299.96
348-1 BOTTOM  |COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |specify height &

PANEL (INCLUDES 70-300 LOCK) length S 299.96
3482 BOTTOM  |COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |specify height &

PANEL (INCLUDES 1415-4 SLAM LOCK) length S 299.96
348-3 BOTTOM  |COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |specify height &

PANEL (INCLUDES 3223 LOCK) length S 452.87
348-4 BOTTOM  |COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |specify height &

PANEL (INCLUDES 75 LOCK) length S 299.96

20 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part i . .
Description List Price
Number
Premium Aluminum Clad Panels
-3/4" thick plywood panel with aluminum face
-Pre-painted white aluminum sheet on face as standard
SHIP LAP JOINT
TOP Specify height &
251 PANEL PLAIN- COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS length $ 159.59
INTERMEDIATE Specify height &
252 PANEL PLAIN length $ 119.40
256 BOTTOM COMPLETE LESS LOCK WITH ALUMINUM U CHANNEL & SEAL  |specify height &
PANEL (FOR 77 LOCK) length S 24021
258 BOTTOM COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  [specify height &
PANEL (INCLUDES 77 LOCK) length ¢ 354.15
TONGUE & GROOVE JOINT
TOP Specify height &
350 PANEL PLAIN length $  119.93
TOP Specify height &
351 PANEL PLAIN- COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS length $ 159.59
INTERMEDIATE Specify height &
352 PANEL PLAIN length S 119.40
353 BOTTOM PLAIN - NO HARDWARE, CHANNEL OR SEAL Specify height &
PANEL (FOR 77 LOCK) length S 120.99
355.3 BOTTOM ALUMINUM U CHANNEL & SEAL ONLY Specify height &
. PANEL (FOR 77 LOCK) length S 206.54
356-2 BOTTOM COMPLETE LESS LOCK WITH ALUMINUM U CHANNEL & SEAL  |Specify height &
PANEL (FOR 77 LOCK) length $ 28545
358 BOTTOM COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |Specify height &
PANEL (INCLUDES 77 LOCK) length $ 354.15
358-1 BOTTOM COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |Specify height &
PANEL (INCLUDES 70-300 LOCK) length $ 381.47
358-3 BOTTOM COMPLETE WITH LOCK AND ALUMINUM U CHANNEL & SEAL  |Specify height &
PANEL (INCLUDES 3223 LOCK) length $ 513.99
Stainless Steel Clad Panels
-3/4" thickness with ship lap joint
-Stainless steel on face
TOP Specify height &
450 PANEL PLAIN length S 222.29
TOP Specify height &
451 PANEL PLAIN- COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS length $ 260.22
INTERMEDIATE Specify height &
452 PANEL PLAIN length S 214.01
453 BOTTOM PLAIN Specify height &
PANEL (FOR 77 LOCK) length S 216.04
457 BOTTOM PLAIN Specify height &
PANEL (FOR 70 LOCK) length S 216.04
458 BOTTOM COMPLETE WITH LOCK Specify height &
PANEL (INCLUDES 77 LOCK) length S  436.76

21 of 37



Price Book 7/1/2022

= 2 & & ® = = = = =
Part Description List Price
Number

General Purpose Wood Core Panels
-3/4" thickness with tongue & groove joint
-Routed for 4 rows of hinges standard
-Primed white as standard
4041 TOP PLAIN Specify height &

PANEL (ROUTED FOR 4 ROWS OF HINGES) length S 83.15
4041-5 TOP PLAIN Specify height &

PANEL (ROUTED FOR 5 ROWS OF HINGES) length S 83.15
4441 TOP COMPLETE WITH TOP SEAL AND BRACKETS Specify height &

PANEL (ROUTED FOR 4 ROWS OF HINGES) length S 113.59
44415 TOP COMPLETE WITH TOP SEAL AND BRACKETS Specify height &

) PANEL (ROUTED FOR 5 ROWS OF HINGES) length S  113.59

4042 INTERMEDIATE |PLAIN Specify height &

PANEL (ROUTED FOR 4 ROWS OF HINGES) length S 83.15
4042-5 INTERMEDIATE |PLAIN Specify height &

PANEL (ROUTED FOR 5 ROWS OF HINGES) length S 83.15
4043 BOTTOM  |COMPLETE LESS LOCK Specify height &

PANEL _ |(ROUTED FOR 4 ROWS OF HINGES) length $ 13053
40435 BOTTOM  |COMPLETE LESS LOCK Specify height &

PANEL (ROUTED FOR 5 ROWS OF HINGES) length S 130.53
4443 BOTTOM  |SEAL & SEAL RETAINER ONLY Specify height &

PANEL (ROUTED FOR 4 ROWS OF HINGES) length S 108.37
4445 BOTTOM  [COMPLETE WITH LOCK, ANGLE & SEAL Specify height &

PANEL (INCLUDES 4077 LOCK) (ROUTED FOR 4 ROWS OF HINGES) length S 256.43
44455 BOTTOM  [COMPLETE WITH LOCK, ANGLE & SEAL Specify height &

) PANEL (INCLUDES 4077 LOCK) (ROUTED FOR 5 ROWS OF HINGES) length $  256.43

22 of 37



Price Book 7/1/2022

Part Description List Price
Number

General Purpose Aluminum Clad Panels
-3/4" thick plywood panel with aluminum face with tongue & groove joint
-Pre-painted white aluminum sheet on face as standard
-Routed for 4 rows of hinges standard
4129 TOP PLAIN Specify height &

PANEL  |(ROUTED FOR 4 ROWS OF HINGES) length $ 163.89
4129-5 ToP PLAIN Specify height &

PANEL (ROUTED FOR 5 ROWS OF HINGES) length S 163.89
4429 TOP COMPLETE WITH TOP SEAL AND BRACKETS Specify height &

PANEL (ROUTED FOR 4 ROWS OF HINGES) length S 187.39
4429-5 TOP COMPLETE WITH TOP SEAL AND BRACKETS Specify height &

PANEL (ROUTED FOR 5 ROWS OF HINGES) length S 187.39
4130 INTERMEDIATE |PLAIN Specify height &

PANEL (ROUTED FOR 4 ROWS OF HINGES) length S 133.29
4130-5 INTERMEDIATE |PLAIN Specify height &

PANEL (ROUTED FOR 5 ROWS OF HINGES) length S 133.29
4131 BOTTOM COMPLETE LESS LOCK Specify height &

PANEL _ |(ROUTED FOR 4 ROWS OF HINGES) length $ 17101
4131-5 BOTTOM COMPLETE LESS LOCK Specify height &

PANEL (ROUTED FOR 5 ROWS OF HINGES) length S 171.01
4431 BOTTOM ANGLE & SEAL ONLY Specify height &

PANEL (ROUTED FOR 4 ROWS OF HINGES) length S 147.43
4431-5 BOTTOM ANGLE & SEAL ONLY Specify height &

PANEL (ROUTED FOR 5 ROWS OF HINGES) length S 147.43
4432 BOTTOM PLAIN Specify height &

PANEL (ROUTED FOR 4 ROWS OF HINGES) length S 120.81
44325 BOTTOM PLAIN Specify height &

PANEL (ROUTED FOR 5 ROWS OF HINGES) length S 120.81
4433 BOTTOM COMPLETE WITH LOCK ANGLE & SEAL Specify height &

PANEL (INCLUDES 4077 LOCK) (ROUTED FOR 4 ROWS OF HINGES) length $ 304.14
44335 BOTTOM COMPLETE WITH LOCK ANGLE & SEAL Specify height &

PANEL (INCLUDES 4077 LOCK) (ROUTED FOR 5 ROWS OF HINGES) length $ 304.14

23 of 37



Price Book 7/1/2022

[ = s S IR S b s
Part .. . .
Description List Price
Number
1/2"Premium Plate Panels
-1/2" polyethelene (PE) composite core bonded to pre-painted steel faces
-Pre-painted white with tongue insert as standard
TOP Specify height &
16090 oaneL  |COMPLETE WITH TOP SEAL AND BRACKETS N & 313.97
TOP " .
16090-1 pne.  |COMPLETE WITH TOP SEAL AND BRACKETS- 111/2" HEIGHT  [specifylength | ¢ 373 o7
TOP " )
16090-2 sane  |COMPLETE WITH TOP SEAL AND BRACKETS- 15 1/2" HEIGHT  [specifylength | ¢ 393 7
TOP " .
16090-5 oaneL  |COMPLETE WITH TOP SEAL AND BRACKETS- 15" HEIGHT Speciylength | ¢ 31397
INTERMEDIATE Specify height &
16089 PANEL PLAIN length S 251.53
INTERMEDIATE ., A
16089-1 PANEL PLAIN- 11 1/2" IN HEIGHT Specify length $ 251.53
INTERMEDIATE ., ,
16089-2 PANEL PLAIN- 15 1/2" IN HEIGHT Specify length $ 251.53
INTERMEDIATE ., A
16089-3 PANEL PLAIN- 18" IN HEIGHT Specify length $ 251.53
INTERMEDIATE .\ ,
16089-5 PANEL PLAIN- 15" IN HEIGHT Specify length s 251.53
INTERMEDIATE ., A
16089-6 PANEL PLAIN- 11" IN HEIGHT Specify length $ 251.53
16091-1 BOTTOM 1 cOMPLETE WITH SEAL AND BRACKETS ONLY- 11 1/2" HEIGHT |Specify length
) PANEL ) pecityleng S 334.40
16091-2 BOTTOM 1 cOMPLETE WITH SEAL AND BRACKETS ONLY- 15 1/2" HEIGHT |Specify length
) PANEL . / pecify lengt S 334.40
16091-5 BOTTOM | cOMPLETE WITH SEAL AND BRACKETS ONLY- 15" HEIGHT specify length
) PANEL ) pecityleng S 334.40
16091-6 BOTTOM | cOMPLETE WITH SEAL AND BRACKETS ONLY- 11" HEIGHT Specify length
) PANEL . pecify lengt S 334.40
16092-1 BOTTOM 1 cOMPLETE LESS LOCK 11 1/2" IN HEIGHT specify length
) PANEL pecityleng S 363.31
16092-2 BOTTOM | - OMPLETE LESS LOCK 15 1/2" IN HEIGHT Specify length
) PANEL / pecify lengt S 363.31
BOTTOM . ,
16092-5 oane |COMPLETE LESS LOCK 15" IN HEIGHT specfylength | ¢ gea 3
BOTTOM " i
16092-6 PANEL COMPLETE LESS LOCK 11" IN HEIGHT Specify length $ 363.31
BOTTOM _ |COMPLETE WITH LOCK 11 1/2" IN HEIGHT
- S ify | th
160931 PANEL (77 LOCK INCLUDED) pectiy iene $ 40613
BOTTOM _|COMPLETE WITH LOCK 15 1/2" IN HEIGHT
- Specify length
16093-2 PANEL (77 LOCK INCLUDED) peciy len 5 40613
BOTTOM _ |COMPLETE WITH LOCK 15" IN HEIGHT
- S ify | th
16093-5 PANEL (77 LOCK INCLUDED) pecty ien $ 42870
BOTTOM _ |COMPLETE WITH LOCK 11" IN HEIGHT
- Specify length
16093-6 PANEL  |(77 LOCK INCLUDED) pecify leng $ 42870
BOTTOM . ,
16094-1 o |COMPLETE WITH SEAL ONLY- 11 1/2" HEIGHT specfylength | ¢ 351 40
16094-2 BOTTOM | c OMPLETE WITH SEAL ONLY- 15 1/2" HEIGHT specify length
- PANEL ) / pecify leng S 321.45
16094-5 BOTTOM | cOMPLETE WITH SEAL ONLY- 15" HEIGHT Specify length
- PANEL ) pecityleng S 321.45
16094-6 BOTTIOM | c OMPLETE WITH SEAL ONLY- 11" HEIGHT specify length
- PANEL - pecify leng S 321.45

24 of 37



[ == =5 > = = = =

Price Book 7/1/2022

Part ogs i i
Description List Price
Number
1/4" Premium Plate Panels
-1/4" polyethelene (PE) composite core bonded to pre-painted steel faces
-Pre-painted white as standard
TOP Specify height &
18505 DANEL COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS length S 283.30
INTERMEDIATE " i
18504-1 PANEL PLAIN- 11 1/2" IN HEIGHT Specify length $  194.93
INTERMEDIATE " i
18504-2 DANEL PLAIN- 15 1/2" IN HEIGHT Specify length $  194.93
INTERMEDIATE " i
18504-3 DANEL PLAIN- 18" IN HEIGHT Specify length $  194.93
INTERMEDIATE n i
18504-5 DANEL PLAIN- 15" IN HEIGHT Specify length $  194.93
INTERMEDIATE " i
18504-6 DANEL PLAIN- 11" IN HEIGHT Specify length $  194.93
18506-1 BOTTOM & " Specify length
506- DANEL BOTTOM SEAL & BRACKET ONLY - 11 1/2" IN HEIGHT pecify lengt S 293.63
18506-5 BOTTOM 1BOTTOM SEAL & BRACKET ONLY - 15" IN HEIGHT Specify length
- PANEL ) pecityleng S 293.63
18506-6 BOTTOM & " Specify length
506- DANEL BOTTOM SEAL & BRACKET ONLY - 11" IN HEIGHT pecify lengt S 293.63
BOTTOM n i
18507-1 PANEL COMPLETE LESS LOCK- 11 1/2" IN HEIGHT Specify length $  293.63
18507-2 BOTTOM " Specify | h
507- DANEL COMPLETE LESS LOCK - 15 1/2" IN HEIGHT pecify lengt S 293.63
BOTTOM " i
18507-3 DANEL COMPLETE LESS LOCK - 18" IN HEIGHT Specify length $ 29363
BOTTOM " i
18507-5 DANEL COMPLETE LESS LOCK - 15" IN HEIGHT Specify length $ 29363
BOTTOM " i
18507-6 DANEL COMPLETE LESS LOCK - 11" IN HEIGHT Specify length $ 29363
BOTTOM  |COMPLETE WITH LOCK- 11 1/2" IN HEIGHT
- Specify length
18508-1 PANEL (77 LOCK INCLUDED) pectlylene 5 38648
BOTTOM  |COMPLETE WITH LOCK- 15 1/2" IN HEIGHT
- Specify length
18508-2 PANEL  |(77 LOCK INCLUDED) e 5 386.48
BOTTOM  |COMPLETE WITH LOCK- 18" IN HEIGHT
- Specify length
18508-3 PANEL (77 LOCK INCLUDED) pectlylene 5 38648
BOTTOM  |COMPLETE WITH LOCK- 15" IN HEIGHT
- Specify length
18508-5 PANEL  |(77 LOCK INCLUDED) e 5 386.48
BOTTOM  |COMPLETE WITH LOCK- 11" IN HEIGHT
- Specify length
18508-6 PANEL (77 LOCK INCLUDED) pectlylene 5 38648
BOTTOM " i
18509-1 DANEL CHANNEL & SEAL ONLY - 11 1/2" IN HEIGHT Specify length $ 29363
BOTTOM " i
18509-5 DANEL CHANNEL & SEAL ONLY - 15" IN HEIGHT Specify length $  293.63
BOTTOM " i
18509-6 DANEL CHANNEL & SEAL ONLY - 11" IN HEIGHT Specify length $  293.63

25 of 37



[ == A R s a_a

Price Book 7/1/2022

Part i . .
Description List Price
Number
Laminated Premium Panels
-3/4" plywood with aluminum sheets bonded to face and back
-Pre-painted white or yellow aluminum as standard
TOP Specify height &
7509 oanel  |COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS Jength $ 22087
TOP Specify height &
7509-2 PANEL PLAIN length S  142.89
INTERMEDIATE R )
7507-1 DANEL PLAIN- 9" IN HEIGHT Specify length S 124.48
INTERMEDIATE " )
7507 PANEL PLAIN- 11 5/8" IN HEIGHT Specify length $ 160.84
INTERMEDIATE " )
7508 oaneL  |PLAIN- 15" IN HEIGHT Specifylength | ¢ 199 17
INTERMEDIATE " )
7506-1 PANEL PLAIN- 18" IN HEIGHT Specify length $ 227.92
7505 BOTTOM COMPLETE WITH LOCK Specify height &
PANEL (77 LOCK INCLUDED) length S  410.26
BOTTOM Specify height &
7505-1 oaneL  |COMPLETE LESS LOCK Jength S 27773
BOTTOM Specify height &
7505-2 oaneL  |COMPLETE WITH SEAL ONLY Jength $  230.90
CargoGuard Panels
-3/4" plywood with aluminum sheets bonded to face and back
-Pre-painted white aluminum as standard
6885 TOP COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS Specify height &
PANEL (LESS CARGO GUARDS) length $ 20240
6384 INTERMEDIATE |PLAIN Specify height &
PANEL (LESS CARGO GUARDS) length S 138.17
6382 BOTTOM COMPLETE WITH LOCK Specify height &
PANEL (INCLUDES 77 LOCK) (LESS CARGO GUARDS) length S 397.35
6882-1 BOTTOM COMPLETE LESS LOCK Specify height &
PANEL (LESS CARGO GUARDS) length $  330.00
BOTTOM Specify height &
6882-2 oaneL  |COMPLETE WITH CHANNEL AND SEAL ONLY Jength $  281.50

26 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part . . .
Description List Price
Number
ColdSaver Panels
-2 1/8" thick insulated aluminum extrusion with tongue & groove joint
-Primed and painted white as standard
TOP Specify height &
2239 oaneL  |COMPLETE WITH TOP SEAL ONLY ot S 346.64
TOP Specify height &
2239-1 oaneL  |COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS length S 364.69
INTERMEDIATE R ]
2236 PANEL PLAIN- 12 1/2" HEIGHT Specify Length $ 310.53
INTERMEDIATE " ]
2236-1 OANEL PLAIN-12 1/2" HEIGHT MODIFIED FOR 1184HD DEVICE Specify Length $ 33339
INTERMEDIATE R ]
2237 PANEL PLAIN- 13 1/2" HEIGHT Specify Length $ 315.80
INTERMEDIATE R ]
2237-1 OANEL PLAIN- 13 1/2" HEIGHT MODIFIED FOR 1184HD DEVICE Specify Length S 337.69
INTERMEDIATE R ]
2238 PANEL PLAIN- 14 1/2" HEIGHT Specify Length $ 318.48
INTERMEDIATE R ]
2238-1 OANEL PLAIN- 14 1/2" HEIGHT MODIFIED FOR 1184HD DEVICE Specify Length S 34134
BOTTOM " )
2232 PANEL PLAIN-13 1/2" HEIGHT WITH SEAL ONLY Specify Length $ 360.56
BOTTOM  |COMPLETE WITH LOCK -13 1/2" HEIGHT
- Specify Length
2232-1 PANEL  |(INCLUDES 77 LOCK) peclyTeng $ 532.14
BOTTOM " ]
2232-2 PANEL COMPLETE LESS LOCK - 13 1/2" HEIGHT Specify Length $ 419.28
BOTTOM  |COMPLETE WITH LOCK - 13 1/2" HEIGHT
- S ify Length
2232-3 PANEL  |(INCLUDES 5681 LOCK) pecify Leng $  662.10
BOTTOM  |COMPLETE WITH LOCK - 13 1/2" HEIGHT
- S ify Length
22324 PANEL  |(INCLUDES 3225 LOCK) pecify Leng $  653.50
BOTTOM  |COMPLETE WITH LOCK - 13 1/2" HEIGHT
- S ify Length
2232°5 PANEL  |(INCLUDES 8718 LOCK) pecify Leng $  679.65
BOTTOM  |COMPLETE WITH LOCK - 13 1/2" HEIGHT
- S ify Length
22326 PANEL  |(INCLUDES 75-10 LOCK) pecify Leng $ 581.48
2232.7/91 BoTTOM  |UNIVERSAL- 13 1/2" X 91" COMPLETE WITH LOCK
PANEL (INCLUDES 77 LOCK) S 53214
BoTTOM  |UNIVERSAL- 13 1/2" X 96" COMPLETE WITH LOCK
2232-7/96 PANEL  [INCLUDES 77 LOCK $ 53214
2232-8/89 BoTTOM  |UNIVERSAL- 13 1/2" X 89" COMPLETE WITH LOCK
PANEL (INCLUDES 3225 LOCK) $  653.50
2232-8/96 BoTTOM  |UNIVERSAL- 13 1/2" X 96" COMPLETE WITH LOCK
PANEL (INCLUDES 3225 LOCK) $  653.50
BOTTOM " ]
2234 PANEL PLAIN-12 1/2" HEIGHT WITH SEAL ONLY Specify Length $ 354.49
BOTTOM  |COMPLETE WITH LOCK -12 1/2" HEIGHT
- Specify Length
2234-1 PANEL  |(INCLUDES 77 LOCK) peclyTeng $ 519.83
BOTTOM " ]
2234-2 PANEL COMPLETE LESS LOCK - 12 1/2" HEIGHT Specify Length $ 406.88
BOTTOM  |COMPLETE WITH LOCK - 12 1/2" HEIGHT
- S ify Length
2234-3 PANEL  |(INCLUDES 5681 LOCK) pecify Leng $  649.75
BOTTOM  |COMPLETE WITH LOCK - 12 1/2" HEIGHT
- S ify Length
2234-4 PANEL  |(INCLUDES 3225 LOCK) pecify Leng $  667.29
BOTTOM  |COMPLETE WITH LOCK - 12 1/2" HEIGHT
- S ify Length
2234-5 PANEL  |(INCLUDES 8718 LOCK) pecify Leng $  666.30
BOTTOM  |COMPLETE WITH LOCK - 12 1/2" HEIGHT
- S ify Length
2234-6 PANEL  |(INCLUDES 75-10 LOCK) pecify Leng $  570.10
BoTTOM  |UNIVERSAL- 12 1/2" X 89" COMPLETE WITH LOCK
2234-7/89 PANEL  [(INCLUDES 77 LOCK) $ 519.83
BoTTOM  |UNIVERSAL- 12 1/2" X 96" COMPLETE WITH LOCK
2234-7/96 PANEL  [INCLUDES 77 LOCK $ 519.83
BoTTOM  |UNIVERSAL- 12 1/2" X 89" COMPLETE WITH LOCK
2234-8/89 PANEL  [(INCLUDES 3225 LOCK) $  667.29

27 of 37



Price Book 7/1/2022

[ B A S B I RBI AL 3
Part Descripti List Pri
1ption
Number p ist Price
BOTTOM  JUNIVERSAL- 12 1/2" X 96" COMPLETE WITH LOCK
2234-8/96
PANEL  [(INCLUDES 3225 LOCK) $  667.29
BOTTOM . ]
2235 oane |PLAIN-14 1/2" HEIGHT WITH SEAL ONLY specfylength | ¢ 37918
52351 BOTTOM _|COMPLETE WITH LOCK - 14 1/2" HEIGHT A
PANEL  |(INCLUDES 77 LOCK) pecify Leng $  543.45
BOTTOM . ,
2235-2 oanel |COMPLETE LESS LOCK - 14 1/2" HEIGHT secifyLength | & 431.49
5235.3 BOTTOM _ |COMPLETE WITH LOCK - 14 1/2" HEIGHT A
PANEL  |(INCLUDES 5681 LOCK) peclyTeng $  673.39
52354 BOTTOM _|COMPLETE WITH LOCK - 14 1/2" HEIGHT .
PANEL  |(INCLUDES 3225 LOCK) peclyTeng $  690.91
52355 BOTTOM _|COMPLETE WITH LOCK - 14 1/2" HEIGHT .
PANEL  |(INCLUDES 8718 LOCK) peclyTeng $ 69091
52356 BOTTOM _ |COMPLETE WITH LOCK - 14 1/2" HEIGHT .
PANEL  |(INCLUDES 75-10 LOCK) peclyTeng $  592.71
BoTTOM  |UNIVERSAL- 14 1/2" X 89" COMPLETE WITH LOCK
2235-7/89 PANEL
(INCLUDES 77 LOCK) $ 54345
UNIVERSAL- 14 1/2" X 96"
2235-7/96 BSIILEII_\/I / COMPLETE WITH LOCK
INCLUDES 77 LOCK $ 54345
UNIVERSAL- 14 1/2" X 89"
2235-8/89 BSIILEII_\/I / COMPLETE WITH LOCK
(INCLUDES 3225 LOCK) $ 69091
2235-8/96 BoTToM  |UNIVERSAL- 14 1/2" X 96" COMPLETE WITH LOCK
PANEL (INCLUDES 3225 LOCK) $  690.91

28 of 37



Price Book 7/1/2022

[ = s S IR S b s
Part .. . .
Description List Price
Number

TempGuard Panels

-1 1/2" insulated fiberglass panel clad with aluminum face

-Pre-painted white aluminum face as standard

Specify height &
7534 Top PLAIN WITH SEAL ONLY e S 299.04
Specify height &

7534-1 Top COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS e $  315.29

6248 INTERMEDIATE |COMPLETE WITH JOINT SEAL - 15 5/16” HEIGHT specifylength | $  299.60

6249 INTERMEDIATE |COMPLETE WITH JOINT SEAL - 13 5/16” HEIGHT specifylength | $  278.83

7543 BOTTOM  |PLAIN- 13 5/16" HEIGHT WITH SEAL ONLY specifylength | $  326.22

7543-1 BOTTOM  |PLAIN- 15 5/16" HEIGHT WITH SEAL ONLY specifylength | $  346.85

7544 BOTTOM  |COMPLETE LESS LOCK- 13 5/16" HEIGHT specifylength | S 348.65

7544-1 BOTTOM  |COMPLETE LESS LOCK- 15 5/16" HEIGHT specifylength | S 356.30
BOTTOM _|COMPLETE WITH LOCK- 13 5/16" HEIGHT A

7545 PANEL  [(77 LOCK INCLUDED) specylength | ¢ 458 90
BOTTOM _|COMPLETE WITH LOCK- 15 5/16" HEIGHT A

75451 PANEL  [(77 LOCK INCLUDED) specfylength | ¢ 46768
BOTTOM _|COMPLETE WITH LOCK- 13 5/16" HEIGHT A

75452 PANEL  [(3224 LOCK INCLUDED) specylenth | ¢ 597 67
BOTTOM _|COMPLETE WITH LOCK- 15 5/16" HEIGHT A

75453 PANEL  [(3224 LOCK INCLUDED) specfylength | ¢ 605,41
BOTTOM _|COMPLETE WITH LOCK- 13 5/16" HEIGHT A

7545-4 PANEL  |(5677 LOCK INCLUDED) specifylength 1§ 581.12
BOTTOM _|COMPLETE WITH LOCK- 15 5/16" HEIGHT A

7545-5 PANEL |(5677 LOCK INCLUDED) pelviensh  |$ 58885
BOTTOM _|COMPLETE WITH LOCK- 15 5/16" HEIGHT A

75456 PANEL  [(8757 LOCK INCLUDED) specylength | ¢ 69696
BOTTOM _|COMPLETE WITH LOCK- 13 5/16" HEIGHT A

75457 PANEL  [(8757 LOCK INCLUDED) specfylength | ¢ 57450
BOTTOM _|COMPLETE WITH LOCK- 13 5/16" HEIGHT A

75458 PANEL  [(75-10 LOCK INCLUDED) specylength | ¢ 504 42
BOTTOM _|COMPLETE WITH LOCK- 15 5/16" HEIGHT A

75459 PANEL  [(75-10 LOCK INCLUDED) specylenth | ¢ 513 16
BOTTOM _|UNIVERSAL - 13 5/16" X 89" COMPLETE WITH LOCK

7545-10/89 PANEL |(INCLUDES 77 LOCK) $  491.24
BoTTOM _ |UNIVERSAL - 13 5/16" X 96" COMPLETE WITH LOCK

7545-10/96 PANEL |(INCLUDES 77 LOCK) > 458.90
BoTTOM _ |UNIVERSAL - 13 5/16" X 89" COMPLETE WITH LOCK

7545-11/89 PANEL |(INCLUDES 3224 LOCK) > 593.29
BoTTOM _ |UNIVERSAL - 13 5/16" X 96" COMPLETE WITH LOCK

7545-11/96 PANEL |(INCLUDES 3224 LOCK) > 593.29
BoTTOM _ |UNIVERSAL - 15 5/16" X 89" COMPLETE WITH LOCK

7545-12/89 PANEL |(INCLUDES 77 LOCK) > 467.68
BOTTOM _ |UNIVERSAL - 15 5/16" X 96" COMPLETE WITH LOCK

7545-12/96 PANEL  |(INCLUDES 77 LOCK) $  467.68
BoTTOM _ |UNIVERSAL - 15 5/16" X 89" COMPLETE WITH LOCK

7545-13/89 PANEL  [(INCLUDES 3224 LOCK) $  605.41
8oTTOM _ |UNIVERSAL - 15 5/16" X 96" COMPLETE WITH LOCK

7545-13/96 PANEL  |(INCLUDES 3224 LOCK) $  605.41

29 of 37



Price Book 7/1/2022

== = = I = = I 2 8 =
Part .. . .
Description List Price
Number
Hinged Truss Il Panels
-Double wall extruded aluminum panels
-Primed white as standard
COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS
(LESS THAN 62" IN LENGTH) S 232.31
15287 TOP COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS speciy length
PANEL (BETWEEN 62" AND 98 1/4" IN LENGTH) S 362.99
COMPLETE WITH TOP SEAL AND CLOSURE BRACKETS
(GREATER THAN 98 1/4" IN LENGTH) $ 583.90
PLAIN- 13" IN HEIGHT
(LESS THAN 62" IN LENGTH) S 159.85
INTERMEDIATE |PLAIN- 13" IN HEIGHT )
15280 PANEL  [(BETWEEN 62" AND 98 1/4" IN LENGTH) specifylength 1 ¢ 249,15
PLAIN- 13" IN HEIGHT
(GREATER THAN 98 1/4" IN LENGTH) $ 470.03
PLAIN- 15" IN HEIGHT
(LESS THAN 62" IN LENGTH) $ 159.34
INTERMEDIATE |PLAIN- 15" IN HEIGHT )
15281 PANEL  [(BETWEEN 62" AND 98 1/4" IN LENGTH) specifylength 1 ¢ 25520
PLAIN- 15" IN HEIGHT
(GREATER THAN 98 1/4" IN LENGTH) $ 476.10
PLAIN- 10" IN HEIGHT
(LESS THAN 62" IN LENGTH) $ 172.00
INTERMEDIATE |PLAIN- 10" IN HEIGHT )
15297 PANEL  [(BETWEEN 62" AND 98 1/4" IN LENGTH) specfylength 16 24213
PLAIN- 10" IN HEIGHT
(GREATER THAN 98 1/4" IN LENGTH) S 460.97
COMPLETE WITH JOINT SEAL- 10" IN HEIGHT
(LESS THAN 62" IN LENGTH) $ 155.00
INTERMEDIATE |COMPLETE WITH JOINT SEAL- 10" IN HEIGHT )
15297-2 PANEL  [(BETWEEN 62" AND 98 1/4" IN LENGTH) specfylength 16 24213
COMPLETE WITH JOINT SEAL- 10" IN HEIGHT
(GREATER THAN 98 1/4" IN LENGTH) S 460.97
PLAIN- 10" IN HEIGHT- WITH JOINT SEAL
(LESS THAN 62" IN LENGTH) $ 151.58
BOTTOM  [PLAIN- 10" IN HEIGHT- WITH JOINT SEAL A
15298-2 PANEL  [(BETWEEN 62" AND 98 1/4" IN LENGTH) specifylength 1 ¢ 23836
PLAIN- 10" IN HEIGHT- WITH JOINT SEAL
(GREATER THAN 98 1/4" IN LENGTH) S 460.97
COMPLETE WITH LOCK- 10" IN HEIGHT
(LESS THAN 62" IN LENGTH)(4077 LK INCL.) S 24294
16241 BOTTOM  [COMPLETE WITH LOCK- 10" IN HEIGHT speciy length
PANEL (BETWEEN 62" AND 98 1/4" IN LENGTH) (4077 LK INCL.) S 379.59
COMPLETE WITH LOCK- 10" IN HEIGHT
(GREATER THAN 98 1/4" IN LENGTH) (4077 LK INCL.) $ 599.77
COMPLETE LESS LOCK- 10" IN HEIGHT
(LESS THAN 62" IN LENGTH) S 172.00
BOTTOM  |COMPLETE LESS LOCK- 10" IN HEIGHT ,
16241-1 PANEL  |(BETWEEN 62" AND 98 1/4" IN LENGTH) specfvlenth | ¢ 28230
COMPLETE LESS LOCK- 10" IN HEIGHT
(GREATER THAN 98 1/4" IN LENGTH) S 379.59

30 of 37



[ == A R s a_a

Price Book 7/1/2022

Part .. . .
Description List Price
Number
Extruded Aluminum Beverage Door Panels
1025 TP 3" HEIGHT TOP PANEL SECTION specify Length
PANEL pecity Leng S 0.91 |/in.
TOP . ]
1707 PANEL 2" HEIGHT TOP PANEL SECTION Specify Length $ 1.12 l/in.
INTERMEDIATE . ) ]
1028 PANEL 3 3/8" HEIGHT (Specify length) Specify Length $ 0.62 |/in.
INTERMEDIATE |_,, . )
1266 PANEL 5" HEIGHT (Specify length) Specify Length $ 0.91 |/in.
INTERMEDIATE | _,, ) ]
2118 PANEL 6" HEIGHT (Specify length) Specify Length $ 1.12 |/in.
BOTTOM . ]
1026 PANEL 3" HEIGHT WITH SEAL Specify Length $ 1.12 l/in.
BOTTOM COMPLETE WITH SEAL- 3" HEIGHT
Specify Length
2936 PANEL  [(HOLES FOR 125 SLAM LOCK) pecify Leng $ 1.12 |/in.
5975 BOTTOM COMPLETE WITH SEAL- 6" HEIGHT specify Length
ecCl en
PANEL |(HOLES FOR 5966 SLAM LOCK) i ¢ $ 1.32 |/in.
BOTTOM . ]
5970 PANEL 6" HEIGHT WITH SEAL Specify Length $ 1.32 |/in.

31 of 37



Price Book 7/1/2022

== = = I = = I 2 8 =
Part i . .
Description List Price
Number
FASTENERS
6 SPACER WASHER — ROLLER SHAFT — 7/16" S 0.16
70-5 U-BOLT, 11/2" S 3.16
70-13 U-BOLT, 1 1/4" (STANDARD) S 2.97
70-19 U-BOLT, 1 3/4" S 3.31
70-30 BOLT,"U" M8 X 1.25 METRIC THREAD S 0.20
70-32 U-BOLT, 1 1/4" — STAINLESS STEEL S 8.40
2370 CARRIAGE BOLT (5/16" — 18 x 5/8") S 0.42
2370-1 CARRIAGE BOLT (5/16" — 18 x 5/8") STAINLESS STEEL S 1.18
2522 THRUST WASHER S 0.43
7574 1/4" CONICAL WASHER, STAINLESS S 0.26
10-1002-3 RIVET — COATED ( 1/4 x 1) 3/4 DHD S 0.36
10-1002-4 RIVET — COATED (1/4 x 1 3/16) 3/4 DHD S 0.36
10-1002-5 RIVET — COATED (5/16 x 7/16 ) 9/16 DHD S 0.36
10-1002-9 RIVET — COATED (1/4x15/16 ) 1/2 DHD S 0.36
10-1002-10 RIVET — COATED (1/4 x 1 13/32) 1/2 DHD S 0.36
10-1002-11 RIVET — COATED (1/4x11/8)1/2 DHD S 0.36
10-1002-15 RIVET — COATED (5/16 x11/8) 1/2 DHD S 0.36
10-1002-20 RIVET — STAINLESS STEEL—(1/4x 1 1/8) 1/2 DHD S 0.99
10-1002-22 RIVET — COATED —(1/4x111/32)3/4 DHD S 0.36
10-1002-23 RIVET — STAINLESS STEEL—(1/4x 1 1/32) 3/4 DHD S 0.99
10-1002-27 RIVET — COATED (1/4 x19/32 ) 3/4 DHD S 0.36
10-1002-30 RIVET — COATED (5/16 x 15/16 ) 1/2 DHD S 0.36
10-1002-32 RIVET — STAINLESS STEEL—(1/4 x 1 7/8 ) 3/4 DHD S 0.86
10-1002-33 RIVET — STAINLESS STEEL—(1/4 x2) 1/2 DHD S 0.86
10-1002-34 RIVET — COATED ( 1/4 x 25/32) 1/2 DHD S 0.36
10-1002-35 RIVET — STAINLESS STEEL—(1/4 x 1 3/4 ) 3/4 DHD S 0.91
10-1002-36 RIVET — COATED (1/4x11/8) 3/4 DHD S 0.36
10-1002-38 RIVET — STAINLESS STEEL—(1/4x2 1/8 ) 1/2 DHD S 0.99
10-1002-42 RIVET — COATED (1/4x 1 1/16 ) 3/4 DHD S 0.36
10-1002-43 RIVET — STAINLESS STEEL—(1/4x 1 3/32) 3/4 DHD S 0.99
10-1002-44 RIVET — STAINLESS STEEL—(1/4x 1 11/32) 1/2 DHD TRI COATED S 0.78
10-1002-45 RIVET — STAINLESS STEEL—-(1/4x 15/32) 1/2 DHD S 0.99
10-1002-46 RIVET — COATED( 1/4 x 5/16) 7/16 DHD S 0.36
10-1002-47 RIVET — STAINLESS STEEL—(1/4x 1 3/16 ) 3/4 DHD S 0.78
10-1002-49 RIVET — STAINLESS STEEL—(1/4x 19/32) 1/2 DHD S 0.99
10-1002-51 RIVET — ALUMINUM - (1/4x 1 3/8) 1/2 DHD S 0.39
10-1002-52 RIVET — ALUMINUM - (1/4x13/16) 1/2 DHD S 0.39
10-1002-54 RIVET — ALUMINUM - (1/4x 1 1/8) 3/4 DHD S 0.39
10-1002-55 RIVET — ALUMINUM - (1/4x13/16 ) 3/4 DHD S 0.39
10-1002-56 RIVET — COATED (.246 x 2 5/32) 15/32 “HD S 0.39
10-1002-59 RIVET — STAINLESS STEEL—(1/4x 1 5/16 ) 3/4 DHD S 0.99
10-1002-68 RIVET — STAINLESS STEEL—(1/4X 11/32)1/2 HD S 0.99
10-1002-70 RIVET — ALUMINUM —(1/4 x 7/16 ) 7/16 DHD S 0.41
10-1002-71 RIVET — STAINLESS STEEL—(1/4x 1 5/32) 3/4 DHD S 1.03
10-1002-73 RIVET — ALUMINUM — (1/4x 1 1/16 ) 3/4 DHD S 0.41
10-1002-79 RIVET — STAINLESS STEEL—(1/4 x 1 13/32) 1/2 DHD S 0.98
10-1002-84 RIVET — STAINLESS STEEL—( 1/4 X 15/16 ) 1/2 HD S 0.86
10-1002-85 RIVET — STAINLESS STEEL— ( 1/4 X 13/16 )3/4 HD S 0.78

32 of 37



Price Book 7/1/2022

[ = s = = I = = ' 8 &
Part Description List Price
Number
10-1002-87 RIVET — STAINLESS STEEL—(1/4x11/16) 1/2 HD S 0.86
10-1002-88 RIVET — STAINLESS STEEL—(1/4 X 19/32 x 11/16 ) HD S 0.78
10-1002-89 RIVET — STAINLESS STEEL—(1/4 X 13/16 ) 1/2 HD S 0.99
10-1003-2 STEPBOLT—-(1/4-20x13/4) S 0.68
10-1003-8 STEPBOLT—-(1/4-20x11/4) S 0.42
10-1003-11 STEPBOLT—-(1/4-20x11/2) S 0.68
10-1003-12 STEPBOLT—-(1/4-20x11/8) S 0.42
10-1003-120 STEP BOLT — STAINLESS STEEL—-(1/4-20x11/8) S 1.47
10-1003-130 STEP BOLT — STAINLESS STEEL — FLUSH HEAD (1/4-20x11/8) S 1.47
10-1003-150 STEP BOLT — STAINLESS STEEL (1/4-20x13/8) S 1.47
10-1003-170 STEP BOLT — STAINLESS STEEL ( 1/4 - 20 x 15/16) S 1.47
10-1003-180 STEP BOLT — STAINLESS STEEL (1/4-20x11/2) S 1.47
10-1003-190 STEP BOLT — STAINLESS STEEL ( 1/4 - 20 x 23/32) S 1.47
10-1004-1 CLEVISPIN—(5/16x1) S 0.77
10-1004-2 CLEVISPIN—(1/4x7/8) S 0.62
10-1005-2 BOLT—(1/4-20x1/2) S 0.42
10-1006-1 WASHER - (1/4x 3/4) S 0.18
10-1006-2 WASHER — FLAT (1/4 x9/16) S 0.18
10-1006-3 WASHER — FLAT (3/8 x7/8) S 0.18
10-1006-9 STAINLESS STEEL WASHER — (.281 x .750 x .060 ) S 0.21
10-1006-27 FLAT WASHER — STAINLESS STEEL S 0.42
10-1008-2 HEX NUT—(5/8-18) S 0.42
10-1009-5 COTTERPIN—(3/32x3/4) S 0.19
10-1009-7 COTTERPIN—-(1/8x3/4) S 0.18
10-1009-8 COTTERPIN—-(3/16x11/2) S 0.44
10-1009-9 COTTERPIN—(5/32x1) S 0.44
10-1009-13 COTTERPIN—(5/16x13/4) S 0.57
10-1009-19 COTTER PIN —(1/8 x 3/4 ) STAINLESS S 1.33
10-1010-2 HEX HEAD CAP SCREW ( 5/16 -18 x 13/4) S 0.44
10-1010-3 HEX HEAD CAP SCREW (1/4-20x21/2) S 0.36
10-1010-4 HEX HEAD CAP SCREW (1/4-20x11/2) S 0.36
10-1010-7 HEX HEAD CAP SCREW (5/8 -11x2) S 1.24
10-1010-8 HEX HEAD CAP SCREW ( 5/16 -18 x 5/8 ) S 1.17
10-1010-9 HEX HEAD CAP SCREW (5/16-18x 1) S 0.19
10-1010-10 HEX HEAD CAP SCREW (5/8 -11x5) S 6.13
10-1010-12 HEX HEAD CAP SCREW (5/16 -18 x 11/4) S 0.44
10-1010-18 HEX HEAD CAP SCREW (5/8 -11x3) S 2.84
10-1010-21 HEX HEAD CAP SCREW (3/8-24x3/4) S 0.36
10-1010-30 HEX HEAD CAP SCREW (5/8-11x51/2) S 4.51
10-1010-31 HEX HEAD BOLT (1/4-20x13/4) S 0.19
10-1010-42 HEX HEAD CAPSCREW (5/16-18 x2 1/4) S 1.64
10-1010-43 HEX HEAD CAPSCREW (5/16 -18 x 2 3/4)) S 1.95
10-1010-44 HEX HEAD CAPSCREW (5/16-18 x 1 3/4) S 1.11
10-1012-3 SPRING —(.430x2) S 1.59
10-1012-8 SPRING —(.480x 2 1/2 ) FOR 77 LOCK HANDLE S 2.16
10-1012-14 SPRING —(.480x 1 1/2 ) FOR SIDE LATCH LOCK S 1.77
10-1014-3 CYLINDER LOCK — "BEST" (B20945) S 125.27
10-1014-5 CYLINDER LOCK — "BEST" (A20937), FOR #70-200 S 127.88
10-1014-8 CYLINDER LOCK — HUDSON (72452 ), FOR #1000 S 14.41
10-1014-10 CYLINDER LOCK — HUDSON FOR #6571 — LOCK BOX S 14.41

33 0f 37



Price Book 7/1/2022

[ = s = = I = = ' 8 &
Part Description List Price
Number
10-1014-12 ABLOY CYLINDER S 245.71
10-1015-6 MACHINE SCREW — (#10-24x1) S 0.19
10-1015-10 MACHINE SCREW — (#10-24x1/4) S 0.24
10-1016-2 LOCK WASHER —(5/8x11/16) S 0.36
10-1017-2 FLAT HEAD MACHINE SCREW (#10-24x1/2) S 0.18
10-1017-5 FLAT HEAD MACHINE SCREW ( #10-24x11/2) S 0.36
10-1018-4 #10-24 FURNITURE NUT S 0.62
10-1020-2 SOCKET CAP SCREW (1/4-20x3/8) S 0.55
10-1020-5 SOCKET CAP SCREW (5/8-11x11/2) S 2.82
10-1021-1 ROLLPIN (1/4x5/8) S 0.42
10-1021-2 ROLLPIN (5/16x13/4) S 0.48
10-1022-1 SELF LOCKING NUT (1/4-20) S 0.36
10-1022-3 SELF LOCKING NUT (3/8 -16) S 0.47
10-1022-4 SELF LOCKING NUT ( #10-24) S 0.36
10-1024-1 CAPTIVESTUD (1/4-20x1/2) S 0.36
10-1024-4 CAPTIVE STUD (5/16 -18 x 5/8 ) S 0.42
10-1025-2 BEARING (15/8x5/8) S 5.03
10-1025-3 BEARING (11/8 x9/16) S 1.49
10-1025-4 BEARING (2 x 1) FOR USE ON #2547 AND #2548, #7096, #7097 S 4.59
10-1027-1 CHAIN ( 7/8 x 6 LINKS ) S 7.88
10-1027-3 SAFETY CHAIN — 18" LONG, 9 LINKS S 11.82
10-1030-1 PUSH ON FASTENER ( 7/16 SQUARE ) S 0.36
10-1030-2 PUSH ON FASTENER ( 1/4 ROUND ) S 0.18
10-1030-4 PUSH ON FASTENER ( 3/4 ROUND ) S 0.52
10-1030-5 PUSH ON FASTENER ( 5/16 SQUARE ) S 0.36
10-1031-2 EYE BOLT (5/16 x 11/8) S 11.05
10-1033-1 TORQUE NUT (1/4-20) S 0.36
10-1033-2 TORQUE NUT (5/16 - 18) S 0.42
10-1037-3 FLAT HEAD SOCKET SCREW ( 5/16-18 x1) S 0.62
10-1038-1 SOCKET SET SCREW ( 3/8 -16 x 5/16 ) S 0.36
10-1041-1 FOLDING “T” HANDLE (4855A) S 27.07
10-1042-1 EXTENSION SPRING (3/8x13/8) S 0.55
10-1044-1 TEENUT (5/16 -18 x 7/16 ) S 0.42
10-1044-2 TEENUT ( #10-24 x 17/64 ) S 0.42
10-1045-1 SELF LOCKING NUT (1/4 x20) S 0.47
10-1047-6 SCREW (#10 x 1/2 ) PAN HEAD S 0.35
10-1047-9 SCREW (#6 x 3/8) S 0.35
10-1050-1 ANNULAR NAIL (#4 x5/8) S 0.43
10-1051-1 NAIL — CEMENT COATED (#4) FOR TOP SEAL ON DRY FREIGHT DOORS S 0.19
10-1054-1 1/4 RIVET — BLIND HOLE — PULL TYPE (STEEL) S 0.47
10-1054-14 3/16 RIVET — BLIND HOLE — PULL TYPE S 0.68
10-1054-15 1/4 RIVET — BLIND HOLE — PULL TYPE (STAINLESS) S 2.08
10-1054-16 1/4 RIVET — BLIND HOLE — PULL TYPE S 1.53
10-1054-18 1/4 RIVET — BLIND HOLE — PULL TYPE S 2.08
10-1054-19 1/4 RIVET — BLIND HOLE — PULL TYPE (STAINLESS) S 2.41
10-1054-20 1/4 RIVET — BLIND HOLE — PULL TYPE (STAINLESS) S 2.07
10-1054-27 RIVET,STEEL 1/4R-NOX S 1.26
10-1054-28 RIVET,STAINLESS STEEL 1/4R-NOX S 2.41
10-1054-29 RIVET,PULL TYPE, MARSON SCCB87SRL S 1.76
10-1058-2 ROUND HEAD SCREW —(1/4-20x1) S 0.82

34 of 37



Price Book 7/1/2022

[ = s = = I = = ' 8 &
Part Description List Price
Number
10-1058-3 BOLT (1/4x1/2) S 0.42
10-1058-4 BOLT (5/16-18x21/4) S 0.74
10-1058-5 BOLT (5/16-18 x 2 3/4) S 0.93
10-1059-1 PIN ASSEMBLY ONLY, FOR BEST CYLINDER (1 SCREW HOLE) S 12.57
10-1059-2 PIN ASSEMBLY ONLY, FOR BEST CYLINDER (2 SCREW HOLES) S 12.16
10-1061-2 LOCK WASHER — EXTERNAL TOOTH ( 5/16 x 9/32) S 0.18
10-1063-1 SELF LOCKING NUT (5/16 - 18) S 0.36
10-1063-2 SELF LOCKING NUT (3/8 - 24) S 0.50
10-1063-4 SELF LOCKING NUT (5/16 - 18 ) — STAINLESS STEEL S 0.99
10-1063-9 SELF LOCKING NUT (1/4 - 20) STAINLESS STEEL S 0.99
10-1065-1 WELD NUT (1/4-20) S 0.50
10-1068-1 DRIVE SCREW (13 x3/4) S 0.18
10-1073-2 BOLT — TOP BRACKET (3/8-16x1/2) S 0.55
10-1073-3 HEX FLAT HEAD BOLT (5/16-18 x 5/8 ) S 0.52
10-1088-4 JOINT SEAL FOR HINGED TRUSS S 1.47
10-1093-1 DRIVE RIVET (3/16 x 7/16)) S 0.50
10-1095-1 HEX NUT WITH NYLON INSERT ( 1/4-20) S 0.42
10-1099-1 CAMTAINER BOLT (FOR LOAD BAR) 5/16 - 18 x 1 1/2" S 1.95
10-1099-2 CAMTAINER BOLT (FOR LOAD BAR) 5/16 - 18 x 1" S 1.33

35 of 37



Price Book 7/1/2022

[ = s = = = = '« & 3
Part i . .
Description List Price
Number

WHITING QUALITY REPLACEMENT PARTS
41034-27 VERTICAL TRACK AND MOUNTING ANGLE ASSEMBLY — ROADSIDE — FOR STANDARD 63.99
41035-1T VERTICAL TRACK AND MOUNTING ANGLE ASSEMBLY — CURBSIDE — FOR STANDARD  $ 63.99
410427 HORIZONTAL TRACK — ROADSIDE (Specify length) S 24.23
410437 HORIZONTAL TRACK — CURBSIDE (Specify length) S 24.23
51036-1T BALANCER BRACKET — CURBSIDE S 5.32
51036-2T SPRING ANCHOR BRACKET S 5.32
51037T BALANCER SHAFT (Specify length) S 0.57 /in.
51038T BEARING AND RETAINER ASSEMBLY S 11.73
51040-1T CABLE DRUM — CURBSIDE — UP TO 105" DOOR HEIGHT S 15.89
51040-2T CABLE DRUM — ROADSIDE — UP TO 105" DOOR HEIGHT S 15.89
510417 SPRING WINDING PLUG — 13/4" |.D. SPRING S 5.70
51042T TORSION SPRING — 13/4" I.D. (Specify length and size) S 39.85
51043T SPRING ANCHOR PLUG — 13/4" |.D. SPRING S 5.70
510447 CABLE ASSEMBLY — 110" — 1/4" EYE, STAINLESS — (For doors up to 100" high) S 14.73
59003T CABLE ASSEMBLY — 130" — 1/4" EYE, STAINLESS — (For doors up to 120" high) S 16.19
590047 CABLE ASSEMBLY — 115" — 1/4" EYE, STAINLESS — (For doors up to 105" high) S 14.73
59033-1T CABLE DRUM — CURBSIDE — UP TO 144" DOOR HEIGHT S 23.56
59033-2T CABLE DRUM — ROADSIDE — UP TO 144" DOOR HEIGHT S 23.56
59174T BALANCER ASSEMBLY (Specify length and spring size) S 204.27
61026T CLEVISPIN (1/4x7/8) S 0.62
61174T 1" STEEL ROLLER — STANDARD S 3.40
61191T BOTTOM SEAL RETAINER (Specify length) S 26.92
61196T CENTER HINGE S 2.76
61204T CABLE ANCHOR S 1.78
61223T CHAIN LOCK, NO CHAIN S 15.40
61229T SAFETY CHAIN — 8" S 8.06
61350T BOTTOM ROLLER BRACKET, TOP PIECE, HEAVY DUTY S 1.89
61352T BOTTOM ROLLER BRACKET S 3.50
61375T GUIDE PIN S 8.47
69020T CHAIN LOCK, WITH CHAIN S 23.46
69035T ROLLER HINGE S 3.31
69085T POLAR VENT S 26.10
69131T FORK LIFT PLATE STEEL — 18" S 27.75
69162T 1" STEEL ROLLER — MACHINED, SHIELDED S 3.59
69325T DROP LIFT HANDLE S 2.26
69341T LATCH BOX S 16.62
69431T TOP CLOSURE, SLIDE ONLY S 2.08
69432T TOP CLOSURE, BASE ONLY S 7.56
69433T TOP CLOSURE ASSEMBLY — COMPLETE S 11.35
69832T PULL STRAP RETAINER S 4.15
69964-1T BOTTOM ROLLER BRACKET, HEAVY DUTY, CURBSIDE, 2 PIECES S 11.40
69964-2T BOTTOM ROLLER BRACKET, HEAVY DUTY, ROADSIDE, 2 PIECES S 11.40
70123-1T BOTTOM ROLLER BRACKET, HIGH STRENGTH, CURBSIDE, LOWER S 9.48
70123-2T BOTTOM ROLLER BRACKET, HIGH STRENGTH, ROADSIDE, LOWER S 9.48
702337 TOP ROLLER SLIDE — HIGH STRENGTH (8652) S 2.45
70236T END HINGE — HIGH STRENGTH (8656) S 3.98
70238T CENTER HINGE — HIGH STRENGTH (8654) S 3.31
70305T 1" STEEL ROLLER, PRECISION S 3.44

36 of 37



Price Book 7/1/2022

[ = s = = I = = ' 8 &
Part i . .
Description List Price
Number
80015-1612T STEPBOLT—-(1/4-20x11/2) S 0.68
80020T SPACER WASHER — ROLLER SHAFT - 7/16 S 0.17
80352-420T HEXNUT-(1/4-20) S 0.36
80401-316T COTTERPIN—(3/32x3/4) S 0.19
80701-2T BEARINGS (2x 1) S 4.59
80840T BOTTOM SEAL (Specify length) S 18.84
80844-1216T PULL STRAP —12" S 9.11
8100-12 LOCK ASSY -W/PADLOCK KEEPER HANDLE SHIELD S 264.88
89004-1T SPLINED STEP BOLT—(1/4x 11/2) S 0.68
89043-1T HEX HEAD CAP SCREW (5/16 - 18 x5/8) S 0.52
89049T BOLT (1/4-16x1/2) S 0.55
89084-0032T FLAT HEAD RIVET (1/4 x 1) 3/4 DHD S 0.43
89210-0032T RIVET — COATED (1/4x 1) 3/4 DHD S 0.36
89210-0036T RIVET — COATED (1/4 x 11/8 ) 3/4 DHD S 0.36
Whiting Quality Replacement Panels |
General Purpose Plastic Panels
TOP Specify height &
29013T paneL  |PLAIN length S 815
INTERMEDIATE Specify height &
29014T PANEL PLAIN length s 83.15
BOTTOM Specify height &
29016T PANEL COMPLETE LESS LOCK length $ 130.53
General Purpose Aluminum Clad Panels
TOP Specify height &
29017T PANEL PLAIN length s 16389
INTERMEDIATE Specify height &
29018T PANEL PLAIN length S 13329
BOTTOM Specify height &
29020T PANEL COMPLETE LESS LOCK Iength s 17101

37 of 37



	Parts Price Book Cover_062822_2
	Price Book Body_062822

